
1. Arrange the following events in chronological orde 
(i) 

(ii) 

(iii) Kheda Satyagraha 

(A) 

(iv) Rowlatt Satyagraha 

(B) 

(C) 
(D) 

(E) 

(i) 

(ii) 

Ahemadabad Mill Strike 

Champaran Satyagraha 

(C) 

(i), (), (Gii), (iv) 

(D) 

(iv), (iii), (ii), (i) 

(E) 

(), (ii), (i), (iv) 

(ii) Ga5I S$funlysib 

(iii), (ii), (1), (iv) 

(iv) QgereL s$unlysb 

Answer not known 

(A) (1), (1), (ii), (iv) 

(Bº (iv), (iü), (i), ) 

(), (), (i), (iv) 

(ii), (i), ), (iv) 

lL sfluolGDN 
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2. 

3. 

The Talaikota Battle was also called as 

(A) Toppur Battle 

(B) Rakahasi - Tangadi Battle 

(C) Battle of Rajagambira Rajyam 

(D) Battle of Kannanur Kuppam 

(E) Answer not known 

(A) GzÜyt Gumt 
(B) 

(C) 
(D) 5GoT6OT69JTT (5ÜUD Gunt 

(E) 

Shivaji was crowned as an independent king at 

(A) Raigad 
(B) Surat 

(C) 

(D) 

(E) 

(A) 

Ahmedabad 

(C) 

Poona 
Answer not known 

JmLISTL 

(B) GI# 

AQDLDSTUTa 
(D) HGoTT 

CCSEI-IAP25 4 



4. 

5. 

Which is/are the objectivels of a Right to Information Act 2005? 

(i) RTI 1s empower to citizens, promote 
transparency 

and 

(ii) The Act is a big step towards making the citizens 
informed 

(A) 

(iii) This Act provides right to 

(C) 
(E) 

(i) 

(A) 
(C) 

(E) 

Q5fla Gsus. 

accountability in the working of Govt. 

(A) 
(C) 

about the activities of Govt. 

(E) 

(1) AJ`lctr GlswOITG5 GT (8,5| ( l4, LD`,S(AT;s(E, GsfluwÜLO55oug 

(C) 

authorities, which is guaranteed Art. 13 of constitution. 

(E) 

(i) only 

(A) 

(i) and (ii) only 
Answer not known 

i) DLGD 

(1) LoDDD (11) DLQu 

Which among the following was the first state in India to constitute 

an institution of Lok Ayukta? 

Karnataka 

Maharashtra 

Answer not known 

access 
information from public 

5it5TL6IT 

LDSITIJITO9 lq.JT 

(B) (ii) and (iii) only 

5 

(D) (i) and (iii) only 

(B) (i) LoDgILD (11) DLQD 

(D). (i) oDgD (i) DLQD 

(B) Kerala 

(D) Rajasthan 

(B) GsaTIT 

(D) @Tmgaugndi 

CCSEI-IAP25 
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6. 

7. 

The word union" is the Union of States" in our Constitution wo 

inspired by the 

(A) 
(C) 
(E) 

(A) 

1 

4. 

3. 

2. 

3. 

4. 

1. 

(C) utonbg) yluwoDÜy 
(E) 

Choose the right matches : 

(A) 

2. 

(C) 
(E) 

(A) 

Canadian Constitution 

(C) 

Irish Constitutio 
Answer not known 

560TLT 

CCSEI-IAP25 

Power of High Courts to issue certain writs 
Transfer of certain cases to High Court 
Establishment of a common High Court 
for two (or) more states 

1 and 2 only 
1 and 3 only 

Answer not known 

Extension of jurisdiction of High Courts to 
Union Territories 

l LoDILD 3 LDL QLb 
(E) lenL QsfluwGl bna 

(B) England Constitution 

(D) U.S. Constitution 

(B) rasGleobSI SjflwwaDÜLY 
(D). Lofls gflwnnLDÜY 

6 

(B) 2 and 4 only 
(D) 4 only 

- Article 226 

- Article 178 
- Article 231 

(B) 2 oggo 4 LoLQD 
(D) 4 LoLQLD 

Article 320 

ol 226 

ol 178 

Gl 231 

oilg 320 



8. 

9. 

3. 

The Justice Party was established in the year 1916 by whom? 

(A) T.M. Nair and Thiyagaraya Chetty (B) 
(C) 
(D) 
(E) 
Gs51l wmgmc) 1916 g,LD 6oT (G BpaüLLS? 
(A) T.M. BTut LoDgD fumsgrw QsLi4 
(B) 

(E) 

(1) 
Arrange the event in Chronological order 

(2) 

(3) 

(4) 

(A) 
(C) 
(E) 

P. Rangaiah Naidu and P. Ananda Charlu 
Chidamparam Pillai and Subramania Siva 
Jotirao Phule and Ram Mohan Roy 
Answer not known 

(2) 

(3) 

P. gråssJwT BTL LDÓD P. D ETÍQ 

(4) 

South Indian liberal Federation was formed 
Madras United League was renamed as Madras Dravidian 

Association 

Periyar E.V.R. transformed the Justice Party into Dravidar 

Kazhagam 
The Ministry of A. Subbarayalu Reddiar fought against the 

Swarajya Party 

(2), (4), (1), (3) 
(1), (2), (4), (3) 

(1) siofl bsw sngraTOJGË SaLGDDÜL 2 (5aT`5ÜULLG| 

Answer not known 

LDMI uuflLÜULL5I 

(A) (2), (4), (1), (3) 
(C) (1), (2), (4), (3) 
(E) lL QsflulbDN 

(B) (2), (1), (4), (3) 
(D) (1), (2), (3), (4) 

7 

(B) (2), (1), (4), (3) 
(D) (1), (2), (3), (4) 

6T60T 

CCSEI-IAP25 
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10. Assertion [A] : The demographic dividend is defined as a rise : 

Reason [R] 

(B) 

(A) [A] is true but [R] is false 

(C) 

(E) 

the rate of Economic growth due to a rising share 

of working age people in a population. 

India is in the midst of process where it faces the 

window of opportunity created by Demographic 

Dividend. 

Both [A] and [R] are true and [R] is the correct explanation 

of [A] 

(D) Both [A] and [R] are true but [R] is not the correct explanation 
[A] is false, [R] is true 

5ITJ6T LD R 

of A] is correct 

Answer not known 

CCSEI-IAP25 

(A) (A] sfl TnGD R 5aug1 

(C) [A] sap, [R] efl 

(B) (A] LDDDID [R. @roo GGD sfl LoDgLD R] GTGÚT LIG [A] a(g sflureT 

(E) lDL Qsflualna 

LD`BOflooT 

(D) A] oDgD RI grT GGo sfil TTG• R] sreßT LIgI [A] a(5, sfluna 

((hoJTHSÜULL 

8 



U 

11. Pick out the incorrectly paired from the followinB 
(1) 1962 

(2) 1967 

(3) 1968 

(4) 

(B) 

(C) 

(D) 

(E) 

(1) 

(2) 

(A). (1) only incorrect 

(3) 

1969 

(4) 

The Madras State (Alteration of Name) Act was 

passed by the Parliament 

1962 

Perarignar Anna Sworn in as the Chief Minister 

1967 

of Tamil Nadu 

(1) and (2) are incorrect 

1968 

Terarignar Anna was elected to the Rajya Sabna 

(1) and (3) are incorrect 

1969 

1he Madras State (Alteration of Namne) Act came 

into force 

(1) and (4) are incorrect 
Answer not known 

BTLT(GHDGÖTDG$l ßlopCauÖDÜULL5 

(A) (1) LDLGD 5OJprOH 

(B) (1l) LDÖDID (2) 5apmNN OJ 

Loßla 

5Lblps psNDLD�EJTSÜ GUgplost ÕoT GOT IT LIo1Guoprt 

(C) (1) LDDMD (3) 5oJpr60TGD GJ 

(D) (1) LD�DD (4) 5OJprGTGDOJ 

(E) GlDL Qgfluelbna 

LDTÖDLD) FLLÜ 

CCSEI-IAP25 
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12. Identify the person who uttered that, "Nothing can be done w without 

shedding of blood. Japan was prepared to sacrifice 20,000 men and 

gaineda victory over Russia. If 15 crores of Indians do the same 

"Swaraji will be obtained". 

(A) V.0. Chidambaram Pillai 

(B) Subramania Siva 

(C) Subramania Bharathi 

(D) Vanchi Aiyar 

(E) Answer not known 

Blumsib Gsuu BUmJns QEBBH. Jo^uJTDau Qaucirpgi. 15 Gam� buts�T 

5T680T Oo." 

(A) OJ.9. 

(B) ÜJDGsfluw lou 

(C) Ügoafluu mgs 

(D) JT(G^Él gud 

(E) GloL QsfluGlina 

CCSEI-IAP25 
10 



13. 
One man, 3 women and 4 boys can do a piece of work in 96 hours, 

2 men and 8 boys can do it in 80 hours, Z men and 3 women can do it 

in 120 hours then 5 men and 12 boys can do it in 

(A) 39 hours 

(O) 

96 LDGO 

(A) 39. 

(C) 

(E) 

(E) Answer not known 

(C) 
(E) 

1 

(A) 

43 hours 

(C) 

11 

43 

(E) 

7 

11 

1 

11 

(A) 3:1 

7 

11 

lLgflwoliGHAN 

V2:1 

3 U6ÔNT 5 6T, 4 60UwGSTS OiT 

LD GofI 5JLD 

3: 1 

LD G0sfl G5JD 

14. The diagonal of a rectangle is thrice its smaller side. The ratio of the 

length to the breadth of the rectangle is 

V2:1 

Answer not known 

7 

11 

(B) 42- hours 
11 

(D) 44 hours 

(B) 42 
11 

(D) 44 LDGOfl G5giD 

(B) V3:1 

2 6�OT E5�T LDDpD 

(D) 2V2:1 

(B) V3:1 
(D) 2/2:1 

CCSEI-AP25 
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15. Assertion [A] : Overloading of Nitrogen in the environment 

Reason [R] 

(A) [A] is true but [R] is false 

(C) 

(B) Both [A] and [R] are true; and R] is the correct explanation of 

[A] 

[A] is false, [R] is true 

of [A] 

cause an imbalance to the natural nitrogen cycle 

Nitrogen becomes a pollutant when it escapes into 

the environment and reacts with other organic 

compounds. 

(D) Both [A] and (R] are true, but (R] is not the correct explanation 

(E) Answer not known 

5TJ6OTLD R]: 

(E) 

(A) [A] sfl, [R] 5aug 

pos 

(C) [A] sap. [R] sfl 

Can 

CCSEI-IAP25 

(B) (A] oÖgD RJ QroT LD fl; DDDD R], [A] oflbsTT sfluner 

12 

JDD STÝmau 
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16. Pick out the incorrectly paired from the following : 
(1) Smoke and Ashes : Opium's 

Hidden Histories 
(2) The Golden Road 
(3) Twilight Prisoners 

(4) The Final Farewell : 

(E) 

The Rise of the Hindu Right 
and the Decline of India 

(A) (1l) and (4) are incorrect 

(C) (2) and (3) are incorrect 

Answer not known 

(2) 

Understanding the Last 
Rites and Rituals of India's 
Major Faiths 

(1) LDT` bTL ,oi : 

(3) 

CsnáLGoT GyrG 

L6l anaL 9flovaaTGi : 

(4) 5D I6T6) Iwiasá : 

(A) (1) oDMD (4) 5pmTN OJ 

(C) (2) LDDD� (3) 5op m60TGN OJ 

(E) o6L Qgfluolan a 

13 

Amitav Ghosh 

William Dalrymple 

Minakshi Dewan 

Siddhartha Deb 

(B) (1) and (2) are incorrect 

(D) (3) and (4) are incorrect 

(B) (1) LoÔgo (2) 5oipmG0T6) O 

(D) (3) LoÖgD (4) oJprT GN O! 

CCSEI-IAI 
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17. The Union Executive consists of the 

1 

2. 

3. 

4. 

(C) 
(E) 

Choose the correct answer by using the code given below : 

1. 

(A) 1 only 

2. 

3. 

4. 

(A) 

Council of Ministers 

(C) 

President of India 

(E) 

Central Secretariat 

Vice President 

1,2 and 4 only 
Answer not known 

1, 2 ooDD 4 oLGò 

(A) Below 14 years of age 
(C) Below 18 years of age 
(E) Answer not known 

(A) 14 6JuDG eULLQJ0S6ÌT 
(C) 18 ausDG eLULLQftsd 
(E) 

18. What is the definition of a child under the POCSO Act? 

CCSEI-IAP25 

(B) 1 and 2 only 

14 

(D) 1, 2, 3 and 4 only 

(B) 1 oDpo 2 LoGD 
(D) 1, 2, 3 LoDgID 4 LD GLD 

(B) Below 16 years of age 
(D) Below 21 years of age 

(B) 16 GuDs 9LULLGutsaT 
(D) 21 GusDG 9LULLGuitsiT 



19, Match the Article . 

(a) Audit and Accounts of Panchayats 
(b) Reservation of seats 
(c) Elections to the Panchayats 
(d) Gram Sabha 

(A) 2 

(B) 3 

(C) 

(a) (b) 

(D) 4 

(c) 

4 

(d) 

(A) 2 

3 

(B) 3 

4 

(C) 2 

1 

(a) (b) 

(D) 4 

2 

(E) A Answer not known 

4 

(c) 

(b) L PSIG`O GsTL0LGDLW UÚJETLiBg als 

1 

4 

2 

2 

4 

1 

(c) 

4 

2 

4 

() 

(E) GlL Qgflueleva 

1 

1 

3 

(d) 
1 

1 

3 

3 
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1. 243 A 

2. 243 J 

3. 243 D 

4. 243 K 

1. 243 A 

2. 243 J 

3. 243 D 

4. 243K 

CCSEI-IAP25 
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21. 

20. What are the objectives of public distribution system? 

(i) 

(i) 

(C) 

(ii) It ensures by making available essential commodities of good 

quality at affordable Prices every month 

(A) i) and (i) only 

(E) 

(1) 

It is based on income status 

It focuses on the families of Military Personnel 

(E) 

(A) ) LDDgD (ii) DLQD 

) and (iii) only 
Answer not known 

(C) ) oÓMD (i) oD 
(E) Glen Q5flulána 

(A) 18,000/ 
(C) 12,000/ 

The amount given under the Dr. Muthulakshmi Reddy Maternity Benefit Scheme has been increased since 2018 to Rs. 

Answer not known 

(A) 18,000/ 

CCSEI-IAP25 

(C) 12,000/ 
(E) alaOL Qgflual dbena 

(B) (i) only 

16 

(D) (ii) only 

(B) (ii) DGD 
(D) (ii) oLGLD 

(B) 24,000/ 
(D) 32,000/ 

(B) 24,000/ 
(D) 32,000/ 



22. Assertion |A] : Tamil Nadu Government replaced Rupee symbol 

() with Tamil letter (5.) in its budget 2025-26. 

Reason [R] 

(B) 

(A) [A] is true but R] is false 

To ensure the 

Nadu to benefit all. 

Both A] and R] are true; but [R] is not the correct explanation 

of A| is correct 

(C) [A] is false, [R] is true 

of [A] 

(D) Both |A| and [R] are true: and RI is the correct explanat10n 

5TJ60T LD RJ: 

(E) Answer not known 

(A) (A] sfl, T ITGD R 5OJI) 

widespread development of Tamil 

(B) [A] oÖDD [R] 

(C) [A saup. R] sil 

(E) ooL Qgflwaláven) 

2025-26 

òoT GLD l; gAN) RI rGTUIgI [A] GT GôTLID(S 

(D) [A) DÒDD [R gror D ; GiDgiD (R] GrGT LI5I [A] olcr sfluner 

17 CCSEI-IAP25 
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23. Which of the following statements are true about the Rfteenth 

Finance Commission? 

(C) 

(i) 

(i1) 

(i) 

(A) 

(B) 

The criterion of demographic performance has been introd. 

The criterion of Fiscal Discipline is given 10% weightage 

(iii) The criterion of Forest cover is replaced with Forest and 

(A) (i) and (ii) only 

Ecology 

(B) (i) and (iii) only 

(C) (i) and (iii) only 

(D) (), (ii) and (iii) 

(E) Answer not known 

9 60T 60 LDUTGOT 60)OJ ? 

(i) PysssfbG 10% ydraflsor augris LIIQpg 

CCSEI-IAP25 

() DDDD (11) LD= Qb 

(1) DDgIo (111) DLGLD 

(i) LDÓDLD (iii) LD=A 

(D) ), (ii) LobmD (i) 

introduced 

(E) alaL Qsflual bse 

18 

6T606 



24. Assertion [A]: 

Reason [R. 

(A) 

(B) 

(C) 

(E) 

of [A] 

[A] is true but [R] is false 

Justice Party opposed the Home Rule Movement 
of Annie Besant. 

Both [A] and (R] are true and [R] is the correct explanation 

(E) 

Justice Party feared that Dominion status would 

(D) Both [A] and [R] are true but [R] is not correct explanation 
of [A] 

give more powers to the Brahmins. 

[A] is false but [R] is true 

so.DD [A] 

5TJ60T LD R: 

Answer not known 

QLTLlGflweor 

(A) A| 6ösT 68DLD 6OTIT) R] 5ou 

eflwmeT 6loT5sLD 

(D) [A] LoDDLD [R] QJr b 

LgmDaNTÍ0s(ah(G 

19 

GT60T 5OJWÜJLL5. 

G0T 60 LD TT�) R GToT LI5 A sr0T 

CCSEI-IAP25 
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25. Which one is belonging to the Chapter Gratitude in Thirukkural? 

(i) Self control of senses, like a tortoise, focussed on results, affords 

everlasting protection 

(ii) Equality is up rightness in thought and conduct always guided 
by a rational mind 

(iii) A friend in need is a friend indeed; do not forget him or forsake 
comrades 

(A) ) only 

(B) (ii) only 

(C) (ii) only 

(D) 
(E) Answer not known 

i) 

(A) 
3 

(B) 

(i) and (ii) only 

) DLD 

(iii) DLD 

(C) (ü) DLQD 

(D) (), (iü) DLQb 
(E) e Qgfluwel dne 

CCSEI-IAP25 20 



26. Mary is 16 years old. She is 4 times older than her brother. How old 
will she be when she is twice his age? 

28. 

(A) 

(C) 
(E) 

4 

(A) 
(C) 
(E) 

(A) 
(C) 

97. Pick the odd one from 

(E) 

CGKO : BFJN : AEIM: FDKN 

(A) 
(C) 
(E) 

20 
28 

(A) 

Answer not known 

(C) 

20 

(E) 

28 

CGKO : BFJN : AEIM :FDKN 

CGKO 
AEIM 

Answer not known 

CGKO 
AEIM 

lenL lsflwolaGDQD 

There are 5 machines that make 5 parts in 5 minutes. How long 

does it take to make 100 parts in 100 machines? 

5 minutes 
50 minutes 
Answer not known 

(A) 5 br`5eiT 

(C) 50 rIsT 

(B) 24 
(D) 32 

(E) lL QsfluJGSlibN ) 

(B) 24 
(D) 32 

21 

(B) BFJN 
(D) FDKN 

(B) BFJN 
(D) FDKN 

5 aTbÉJTaI E5 G0T 5 LUTSI`ISNAT 5 6LLr�iE5 Gfl áo 5umfláGDmGTTáD 100 GTbJ`5�T 

100 umSIBI56N GT GTGJGJGTTO llr`l 5Gtl 6) 5Unläg� ? 

(B) 100 minutes 
(D) 30 minutes 

(B) 100 Blulråi5�T 

(D) 30 lLlLTåJs GT 

CCSEI-IAP25 

[Turn over 



29. Match the following type : 

Match correctly the river and its places of rises. 

(a) The Krishna 

(b) The Alaknanda 

(c) The Gandak 

(d) The Brahmaputra 

(A) 3 

(B) 1 

(C) 2 

(D) 4 

(a) (b) (c) 

(a) sl6i_ G0TIT 
(b) 

(c) 5mGÜT L É 

(a) 

(A) 3 
(B) 1 

(C) 2 

(E) Answer not known 

(D) 4 

(d) gbDLBBITT 

CCSEI-IAP25 

2 

�B�ST 

2 

4 

4 

1 

1 

1 

(b) 

1 

4 

2 

3 

2 

(c) 
4 

2 

3 

(E) aleL QgflualboN 

(d) 

3 

4 

3 

(d) 
1 

3 

4 

3 

1. 

2. 

3. 

4. 

1. 

2. 

3. 

4. 

22 

Garwal Tibet border 

Central Himalayas 

Tibet 

Sahyadris 



30. 
Who founded the Satya Shodak Samaj in 1873? 

(A) Jyoti Rao Phule 
(B) 
(C) 
(D) 
(E) 

sÆu Gengå sD 

(B) 

Sri Narayana Guru 
Pandita Ramabai 

(A) Ggrs gmau yG 

(C) 

Dayananda Saraswati 
Answer not known 

1873 Qá Gsmpgal·gaut 

(B) 

uGioT L4 5 JLDTUTn 

(D) 5uTOTBS EJ6 auß 
(E) Glen sflwoloaDA) 

31. Which among the following was the first Christian Ashram 

established in South? 

(A) C.F. Ashram at Pachalur 

Christukula Ashram at Tiruppatur 

(C) Zion Prayer Center at Madurai 

(D) Dyana Ashram at Chennai 

(E) Answer not known 

(A) .6TLÜJ. lTDD, JFT0 

(B) alsvgi5O lroD, HLLIBGT0 

(C) ACuroT L9gm`SNOI GOLDLJD, DgOJ 

(D) ureTIT guoLb, QsGDT 

wm0? 

23 
CCSEI-IAP2 
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32. Which of the following are the objectives of Tamilnadu safe and 

Ethical Artificial Intelligence Policy, 2020? 

1) To establish guidelines for the evaluation of Al systems befors 

its rolled out for public use 

(u) To provide restricted access to open data, data models and 

computing resources 

(1) To promote investments in AIR & D in Tamilnadu 

(A) ) only 

(B) ) and (ii) only 
(C) (i) and (ii) only 
(D) (ii) and (ii) only 

(E) Answer not known 

FGÜT G80T IDlays QsmGIT GN S, 2020 Got GBT`ST`56T Gb? 

() QumgD`SAfT UuTLuTL 4DG AgDÜLSÖS 

(iü)ufl JLWNEI SJQJsT, 

(A) (i) LoL Qub 

(B) (1) LDDgD (1ii) oLGD 
(C) () LDDMI D (11) iDLQD 
(D) (ii) LoDgD (1) DLQD 
(E) lL QgflualnN 

CCSEI-IAP25 24 
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3 

Which of the following articles on Fundamental Rights is incorrectly 
paired? 

1. 

2. 

3. 

4. 

(A) 

(B) 

(C) 

(D) 

(E) 

1. 

2. 

3. 

4. 

(A) 

(B) 

Article 12 

Article 21 

(E) 

Article 34 

Article 35 

1 and 4 only 

1 and 2 only 

2 and 3 only 

3 and 4 only 

Definition of State 

Right to Education 

Power of the Parliament to modify the rights 

Legislation to give effect to the provisions of 
the fundamental rights 

Answer not known 

AJSODÜY o 12 

AJFNDÜY Gl 21 

l LopgD 2 DLQ 

9JSOLDnY o 34 

AJFOLDÜY o 35 

1 DDMD 4 DLGD 

(C) 2 D�LD 3 DL QD 

(D) 3 DÖDLD 4 DL-QLD 

25 CCSEI-AP25 
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34. Match the following schemes with their respective beneficiaries 
(a) Babu Jagjivan Ram 

(c) 

Chhatravas Yojana 
(b) Atal Vayo Abhyuday Yojana 2. 

Pradhan Mantri Jan 
Vikas Karyakram Yojana 

(d) Pradhan Mantri Janjantiya 4. 
Vikas Mission 

(E) 

(a) 
(A) 3 
(B) 2 
(C) 4 

(D) 3 

(b) 

(B) 2 

1 

3 

(D) 3 

1 

4 

(a) (b) 
(A) 3 1 

CCSEI-IAP25 

(C) 4 1 

Answer not known 

(c) 
4 

4 

4 

2 

2 

(a) umY gigoGÚT gTD SJTOJNG0U 

(c) 
4 

4 

2 

2 

(E) GeL Qflwaláana 

(d) 
2 

1 

3 

1 

(d) 
2 

1 

3 

1. 

1 

26 

3. 

1. 

2. 

3. 

4. 

Scheduled tribes 

Minorities 

Scheduled castes 

Senior citizens 



35. Assertion |AJ : During 2001 to 2026, for the states Bihar, 
Madhya Pradesh, Rajasthan and Uttar Pradesh, 

population is expected to increase by 45-55%. 

More than half of demographic transition 1s 
expected during that period. 

Reason [R] 

(A) 

(B) [R] is true, [A] is false 

(D) 

(C) Both (A] and [R] are true; but [R) is not correct explanation 

(E) 

[A] is true, R] is false 

the 

of [A] 

(B) 

Both A] and R] are true and RI is the correct explanation 
of [A] 

5TJ600T LD RJ 

Answer not known 

BslglyGgsD ,u omBlaraJESGrfl i 2001-2026, sreJ 

5L óo, LD`SGTQsTD5 45-55 s5oisb sflágib GTGJT 

LDÜLÜULQGTATg. 

(A) [A] sfl [R] 5aUg 

R] sfl [A| 5oug 

(C) A]b sf [R]D sfl; TTÁ) |k oroòTLIG |A<aG sflunar olorsSLDITSITI 

(E) L Qsflwelio 

GT60T 

27 
CCSEI-IAP25 
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36. When one sees the person who taught not forgetting what th 

taught is dealt in the chapter 

(A) 
(C) Tyranny of rule 
(E) Answer not known 

(A) 

FoDlwT LDMIHS LDTLLTOD' GT6TD oluT(IH(GH60 LW 

(C) QsnQr GsnHGDN GlsnGaGsnGTGNLD 
(E) 

Detectives 

37. "Ozhukkaaraak Kolka Oruvandhan Nenjaththu 

"Azhukkaaru"? 
Azhukkaaru Iladha Iyalpu". What is the meaning of the word 

(A) Love 
(B) Submissive 
(C) Jealous 
(D) 
(E) Answer not known 

(B) 

Good Character 

(A) G�TL4 

(E) 

(C) auTpmGOLD 

`L� 

(D) uioTL4 

CCSEI-IAP25 

(B) Hopefulness in Trouble 

(D) Benignity (perspective) 

(B) QGs5dST ALuraoD 

(D) 5o GoTTLD 

28 



38. Arrange 

(1) Salt Satyagraha 

(2) Swadeshi Movement 

(3) Quit India Movement 

(4) Non Co-operation Movement 

(A) 

(B) (4), (3), (2), (1) 

(C) (2), (3), (1), (4) 

(E) 

the following events in chronological order : 

(D) (2), (4), (1), (3) 

(1) 

(2) 

(3) 

(4) 

(A) 

(1), (2), (4), (3) 

(B) 

(E) 

Answer not known 

(1), (2), (4), (3) 

(4), (3), (2), (1) 

(C) (2), (3), (1), (4) 

(D) (2), (4), (1), (3) 

29 
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39. Assertion (A] 

Reason [R] 

(B) 

(A) [A] is true but (R] is false 

(D) 

(E) 

(C) Both [A] and [R] are true; and R] is the correct explanation 

Some poets live on their prize money. Most of the 

poets have their own professions. They don't 

of [A] 

depend on prizes. 

Both [A] and R] are true, but R) is not the correct 

explanation of [A] is correct 

5TJ680T LD R] 

(D) 

When poets who make a living out of their pr1zes 

get prizes of low value / below their expectation: 

they reject it. 

(E) 

[A] is false, (R] is true 

Answer not known 

CCSEI-IAP25 

yvautsefla 

(A) A] sfl, ,TITG) |R50ug 

uflfle 

sflssGUngLD 
LODIasaT0. 

(B) A] LDDDD RÊ l Gi GD sfl, TTÁ) AJ sfl GrGiTLISDS 
[R] sfluGaT GlT`sS5LDdaJ 

(C) [AJ LDDID R] ylw rsiar GLD sfl; odgD R] ,tg5 A] ofls1 sflumGT oless5LDmGD 

ufl 

A 5apng. [RÊ sfilunag) 

uflla 

QuGLbUnBemt 

30 



40. 
Match the following and find out the correct sequence. (a) Abiotic component 

(b) Bagasse 

(c) Carcinogen 

(d) Carnivorous 

(A) 

(B) 
(C) 

(a) (b) 
1 

2 

3 

(D) 4 

(A) 

2 

3 

(b) 6(5b;` s`GDS 

(a) 

1 

(c) sn0tal Gag 

1 

1 

(d) 9T69) 6T G0f 

(B) 2 

(E) Answer not known 

(C), 3 

(a) ulDp QunGáT 

(b) 
2 

3 

(c) 

1 

3 

1 

4 

4 

2 

(c) 
3 

4 

4 

2 (D) 4 
(E) leL Qsflualn 

4 

1 

2 

1. 

(d) 

3 

2. 

3. 

4. 

4 

(d) 

1 

2 

1. 

3 

2. 

3. 

4. 

The crushed cane after extraction 
of juice 
Animals that feed on other animals 

Non-living component in an eco 
system 

Toxic organic compound causing 
Cancer 

31 
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41. Arrange the Conquests of Iltutmish in Chronological order: 

(1) 
(2) 
(3) 
(4) 

(E) 

(A) (1), (2), (3), (4) 
(C) (4), (1), (3), (2) 

(1) 
(2) 
(3) 
(4) 

QLGls-ci QaudlsnoT` 5TDGJflosÜuiS5. 

(E) 

Bengal 

(i) 

Bilsa Fort 

(A) (1), (2), (3), (4) 

(iü) 

Gwalior 
Ranthambhor 

(C) (4), (1), (3), (2) 

Answer not known 

G`JSToT LD 

42. Which of the following statements are true about the Houses at 
Mohenjo-daro? 

(i) 

GaUTelut 

It was discovered in Montgomery District of Punjab. 
Mohenjo-daro the houses were made of Kiln-burnt bricks. 

(iüi) Kiln-burnt bricks in large quantities were used for drains. 

(iü) 

(A) (i) and (ii) only 

(ii) 

(C) (ii) and (iii) only 

(A) 

(E) Answer not known 

9_6ÖT6) LD? 

) oDDD (1i) oLGb 

(B) (1), (3), (4), (2) 
(D) (4), (3), (2), (1) 

(C) () oDgID (ii) oGo 
(E) loL QgfluuGldnN 

CCSEI-IAP25 

(B) (1), (3), (4), (2) 
(D) (4), (3), (2), (1) 

L Qs`i5D 5dT 5 ATflá aJlq5GÖS(G5`5 (Gn UWTLIGSSÜULL6aT. 

32 

(B) (i) only 
(D) (ii) only 

(B) (1) oL GD 
(D) (ii) oLQD 



43. With reference to the functional items placed within the purview of 
municipalities, consider the following. 
() Regulation of slaughter houses and tanneries 
(ii) Safeguarding the interests of weaker sections of society 
(iii) Small-scale industries, including food processing industries 

(iv) Technical training and vocational education. 

Which of the above is/are correct statements? 

(A) i) and (iv) are correct 

(B) (i), (ii) and (iv) are correct 
(C) 
(D) 
(E) 

(i), (iii) and (iv) are correct 

(i) and (ii) are correct 

Answer not known 

(1) QopaA` LDDDID 

(A) (1) LoDgD (iv) sflurGGTGN OLU 

(B) (iü), (iii) LD�DD (iv) sflunamanau 

(C) ), (iii) LoÓDIb (iv) sfluumamN aL 

(D) (1) LDDDD (ii) sflun160 OJ 

(E) GleL Qslwclá 

33 CCSEI-IAP25 
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44. Assertion [A]: Parliament has exclusive power to make any law 

Reason [R] 

(A) [A] is true, but [R] is false 

(B) Both [A] and R] are true; and R] is the correct explanation of (A) 

(C) [A] is false but [R] is true 

(E) 

with respect tO any matter not enumerated in the 

concurrent list or state list 

(D) Both [A] and R] are true; but [R] is not the correct 

VIII schedule of the constitution contains union 
list, state list and concurrent list 

5ITJ60TLD R]: 

(B) 

explanation of [A] 
Answer not known 

(A) [A] sfl, y6TTá) R 5g 

oloTsSL�. 

CCSEI-IAP25 

(C) A] su. ,TT`D R] sfl 
(D) (A] LDDgD RI A6or GLD Efl; oTGO R] GTGÝT LIgI [A] -`aG sflumar 
(E) lnL QsfluuGl ibn 

34 



45. Consider the following statements about Women Helpline. Which 
among the folloWing statement is incorrect? 
(A) 

(B) 

Provide toll-free 24 hours telecom service to women affected by 
conflicts seeking support and information 

(C) Provide information about appropriate support services, 
government schemes available to the women affected by 
violence 

(E) 

Facilitate crisis and non-crisis intervention through referral to 
the appropriate agencies 

(D) Provide integrated support and assistance to women affected 
by violence in public spaces only 

(B) 

Answer not known 

(A) g6öoT LIGou5TO, UglisÜULL 

(E) oloL Qgflwalina 

35 
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46. Match the following: 
Schemes 

(a) Kalaignar Magalir 
Urimai Thittam 

(b) Tamil Puthalvan 

(c) Vidiyal Payanam 
(d) Pudumai Penn Thittam 

(a) (b) (c) 
(A) 3 

(C) 
(B) 2 

(D) 4 
1 

(B) 2 

2 
(E) Answer not known 

(b) lý ys6aucT 

(C) 1 

4 

(D) 4 
(E) 

1 

(c) qwá) LIIGOT LD 

(a) 
(A) 3 4 

CCSEI-IAP25 

1 

(b) 

3 
2 

1 

4 

2 

lctTQL(H6QJGTAIDNp sfluns Gun(5`Sa sTLLQo 

(a) 560NGH0t LD6ofl t e flaLD� fLLL� 1. 

(c) 
1 
4 

(a) 

2 

GlenL Q5flusloa) 

2 

4 
1 

(d) 
2 
3 
4 
1 

1. 

2. 

36 

3. 
4. 

2. 

3. 

4. 

Beneficiary 
Woman to travel in Govt 
bus at free of cost 

Woman college students 
who studied in Govt. 
schools till 12th standard 
Woman head in a family 
College students who one 
studying in Government 
and Government aided 
colleges 

LDTG0T OJtS(GHã(G 



43. With reference to the functional items placed within the purview of 
municipalities, consider the following. 
Ö) Regulation of slaughter houses and tanneries 

(ii) Safeguarding the interests of weaker sections of society 
ii) Small-scale industries, including food processing industries 
(iv) Technical training and vocational education. 
Which of the above is/are correct statements? 
(A) (i) and (iv) are correct 

(B) (i), (ii1) and (iv) are correct 
(C) (i), (iii) and iv) 

(D) i) and (i) are correct 

(E) 

are correct 

(i) Qnpsfls 

(üi) 

Answer not known 

(A) (1) LDDDD (iv) sfluTGOT GN 6I 

(B) (iü), (iii) ooDD (iv) sflunannaJ 

(C) ), (iii) oÓDD (iv) sflurarnaJ 

(D) (1) LDDMD (ii) sfluraT GN 6I 

(E) laoL Qsfluolna 

33 CCSEI-IAP25 
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44. Assertion AL: Parliament has exclusive power to make any law 

Reason [R) 

(A) [A] is true, but [R] is false 

(C) 

with respect to any matter not enumerated in the 

concurrent list or state list 

(B) Both [A] and [R] are true; and [R] is the correct explanation of [A] 

: VIII schedule of the constitution contains union 

list, state list and concurrent list 

A] is false but [R] is true 

(D) Both [A] and [R] are true; but [R] is not the correct 

5TJ680T LD RI: 

explanation of [A] 
(E) Answer not known 

AJENDÜL6oT VIll-J5 LLGJGD G80T, LDHlw ULGwi), 

(A) [A] sfl, ,aoTT GD R 5Qug 

CCSEI-IAP25 

(B) [A] DDgD [R] QJairGD sfl; GuogyD R] GTGÜT LII [A]ag sflun 

(C) [AJ 3aJg, ,6orTG) |R] sfl 

(D) (A] oÖgID [RÊ QriorGD sfl; yTTÁD R] Gr�ÝT LIJI A] -a( sfluna oloT`s85LD�)A) 

(E) looL QgfluuGlábn) 

34 



45. 
Consider the following statements about Women Helpline. Which 
among the following statement is incorrect? 

(A) Provide toll-free 24 hours telecom service to women affected by 
conflicts seeking support and information 

(B) Facilitate crisis and non-crisis intervention through referral to 

the appropriate agencies 

(C) Provide information about appropriate support services, 
government schemes available to the women affected by 
violence 

(D) Provide integrated support and assistance to women affected 
by violence in public spaces only 

(E) Answer not known 

(B) Qum(5`SDIT Bpiavrri5(GHBG UtlbgoJÜLg OD QBG`SS04 LoDDD 

(E) 

35 CCSEI-IAP25 
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46. Match the following : 
Schemes 

(a) Kalaignar Magalir 
Urimai Thittam 

(b) Tamil Puthalvan 

(c) Vidiyal Payanam 
(d) Pudumai Penn Thittam 

(A) 3 4 

(B) 2 
(C) 1 

(a) (b) (c) (d) 

(D) 4 

(b) s6 ygôaJGT 

(A) 3 4 
(B) 2 

(E) Answer not known 

(C) 1 

1 

(D) 4 

3 
2 

CCSEI-IAP25 

(a) 45IGDLDÜ QUôoT LLD 

(a) (b) (c) 

1 

3 
2 

(a) s60V(G50T LD5Gflt 2_flGOLD` LL� 1. 

1 

4 

9lToL(5aJTODADp sfluns GurG`s sm=LQo 

1 

2 

4 

3 

2 
3 

(E) lenL Qgfuln 

2 

3 

3 

4 

(a) 

4 

1 

1 

1. 

2. 

36 

3. 

4. 

2. 

3. 

4. 

Beneficiary 

Woman to travel in Govt 
bus at free of cost 

Woman college students 
who studied in Govt. 
schools till 12th standard 

Woman head in a family 
College students who one 
studying in Government 
and Government aided 

colleges 

UW6OTIToffloiT 

12b Q(5ÜLY GJGOIJ AJ 

LDIT600T QLuds(GhH( 

3 



47. Arrange chronological orderlevent : 

(1) 

(2) 

(3) 

(4) 

Mahalwari system 

Ryotwari system 

(A) (4), (3), (2), (1) 

(1) 

Zamindari system 

(B) (3), (2), (4), (1) 

(2) 

Gramdan movement 

(C) (3), (2), (1), (4) 

(3) 

(D) (2), (1), (3), (4) 

(E) Answer not known 

LDADNAf (penp 

(4) 65TGTLD (PnD 

(A) (4), (3), (2), (1) 

(B) (3), (2), (4), (1) 

(C) (3), (2), (1), (4) 

(D) (2), (1), (3), (4) 

(E) Gle Qsfuwal dbn 

37 
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48. Which of the following statement/s is/are true about the rationalist 

marriage system 'Self Respect Marriage, devised by Periyar? 

(i) 

(ii) 

(i) 

(B) 

(B) 

(C) 

(ii1) They did away with thali-tying ceremony. 

(iv) The couples took oaths promising to treat each other equally 
and as friends. 

(C) 
(D) 
(E) 

(A) 

(A) () and (ii) only 

(ii) 

The Self Respect Marriages were conducted without any 

priests or chanting of the rituals in Sanskrit. 

They were often deliberately conducted in times considered 

auspicious. 

Quflunit 

), (ii) and (iv) only 
(), (iii) and (iv) only 
(), (ii), (iii) and (iv) 
Answer not known 

(iii) GUts�T STal sLD opmena lgd. 
(iv) DLIS5aT RHO(hSGl5m(Haut ELDLDTSoD boTIdSATTSoD 5LHIGlSTS 

CCSEI-IAP25 

GsgriJsofláo 5LB5ÜULLGT. 

'FLJLDlumD5 

) oDMILD (ii) LDLGD 
(i), (i) oDgID (iv) D= QD 
(), (ii) oDDb (iv) DLGLD 

(D) ), (ii), (iii) DDpb (iv) 
(E) lnL Qgfluli 

lGLDOTLD' 

38 



t 

49. Match the following customs with literature : 

(a) A custom performed by an 

) A custom of mixing Palmyra, 

(c) Custom of offering crow with 
white rice and Ghee 

(A) 

(d) The custom of painting the walls of 
private houses 

(B) 
(C) 
(D) 
(E) 

unrequited Lover 

(a) 

(b) 

sugarcane juice with coconut water 

(a) (b) 

(B) 

2 

4 

1 1 

4 

4 

(C) 4 

4 

(D) 1 

(A) 3 4 

1 

Answer not known 

(c) 
1 

(a) (b) (c) 

4 

1 

2 

1 

(c) QaTGD GTT flf LoDgb awyL6öT 

4 

3 

(d) aQsefloir Fotsfl lwo $LQD 

1 

1 

1 

(d) 

3 

2 

(E) alL Qgfluaflivna 

3 

3 

2 

(d) 
2 

3 

39 

1. Kuruntogai 

2. Manimegalai 

3. Tholkappiam 

4. 

1. 

2. 

Purananuru 

4. 

LD6of &LDS60AD 

3. QGOSTÜAlwó 

CCSEI-IAP25 
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51. 

50. 

(E) 

(C) 
(E) 

(A) 1 
(C) 4 

When we write like this A1B4C9D16.....Z676, what is total value t 
the numbers followed by P and Q? 
(A) 770 
(C) 869 

CCSEI-IAP25 

(E) 

Given below are 4 pictures of a cube. 

Answer not known 

A1B4C9D16...Z676 Gr6T GT(LDJL� GuTSI P oDpo GmLJæUQU 
(A) 770 
(C) 869 
(E) L Qgfluolino 

4 

5 

I 

I 

6 

Answer not known 

Which number is on the face opposite to 3? (A) 1 

6 

aL QsflualmN 

6 

6 

3 

II 

II 

5 

5 

(B) 677 
(D) 481 

40 

(B) 677 
(D) 481 

1 

(B) 2 
(D) 5 

2 

(D) 5 

III 

II 

(B) 2 

2 

4 

4 1 

IV 

4 

4 

IV 



of 52. 
(A) 
(C) IKONOS 1 
(E) Answer not known 

(A) INSAT 3D 
IKONOS 1 

Which of the following is the first Indian Geo-Stationary Satellite? INSAT 3D 

(C) 
(E) 

(A) Dhimor 
53. Who among the following tribes act as cattle keepers? 

(C) Rawats 
(E) 

(A) 
(C) 
(E) 

l6brau(5b UpiG u9lorláo uunt srdbBOL IJTLDunaitsaTTS QsIÓUprtsatr ? 

Reason [RJ 

(B) 
(A) [A] and 

(C) 

54. Assertion [A]: Development of 

(D) 
(E) 

Answer not known 

(A) 
(B) 
(C) 

(E) 

S1J8TLD [R]: 

(B) LANDSAT 8 
(D) QUICK BIRD 

(B) LANDSAT 8 
(D) QUICK BIRD 

[A] is true but [R] is false 

(B) Kewats 
(D) Bhils 

infrastructure facilities. 

(B) GsaJTLa 
(D) Nibau 

Answer not known 

Transport and communication are the back bone 
of economic development. 

R] is true and [R] is correct explanation for [A] 

[A], [R] is true but R] is not the correct explanation of [A] 

Both [Al and [R] are not correct 

nation depends 

41 

[A] LDÖDD R] fGu, RJ ds5i168T LÓl5` sflumer GlTSED A] 5L�. 

[A] sf and [R sag 

A], [R] sfGuw, ,TITPD RÊ [AJssTGIT Efluurer elars5LD¦A) 

On 

CCSEI-IAP25 
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55. Which of the following statements are true? 

(i) The National population policy, was promulgated in A 

(1) Included provisions for health care, nutrition and more st 

on Education for girls. 

(ii) The goal was an eventual average family size of two childre 
(A) (i) only correct 

(B) i) and (ii) only correct 

(C) (ii) and (ii) only correct 

(D) (i), (ii) and (iüi) correct 

1976. 

(E) Answer not known 

() 

(ii) 

(A) 

(B) 

(C) 

(D) 

(E) 

1976 

LlgsLaTÜuOSÙULLg. 

) oDgD () DLGb sfl 

(1) oÖgD (11) DGb sfil 
), (ii) oDgLb (iii) sfl 

oloL fluoláne 

LD`56T 



answer. 

Assertion [A] : A remarkable difference between China and India 

Reason R] 

(C) 

(A) Both [AJ and (R] are correct statement; R] is the correct 
explanation of [A] 

(D) 

(B) Both |A| and [R] are correct: [R] is not the correct explanation 

of [A] 

(E) 

was observed regarding mass 
pollution control. 

China emploving the approach of Historical 
Institutionalism to control air pollution. 

[A| is correct; But R] is false 

(C) 

(R] is correct; But [A] is false 

STJ680T LD R] 

Answer not known 

aou(G� nDF [A| LDÖOD 5TJGMD R laTT6DGJ 5(5515. Eflumear ol6L60 

Gstbas6is. 

oloissLDGVU 

LDTELJTL60L 

GonITLITOTG, 

politics around air 

jflwaIT(H,LD GTGÖT LI605 5TG80T (LDg65pg. 

(B) [A] LD 
sfl; R GrGIT LI5I [A a5 sflumar 

A] GT 6ÜT LIS| efl; R] GTGÜTLIGI SO 

(D) R] GrTLIEI sfl; AJ GT6ÞTLIGI SOg 

(E) oL GsflualbnN 

43 

Ll5IQUflw 
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57. Assertion [A]: Article 

Reason [R] : 

(B) 

(C) 

(A) [A] is true but (R] is false 

of [A] 

(E) 

CCSEI-IAP25 

51-A does 

fundamental duty on the state. 

of [A] 

5JGOTLD R] 

duty of the state. 

[A] is false, [R] is true 

(E) Answer not known 

The duty of every citizen of India is the collecti. 

Both [A] and [R] are true; and [R] is the correct explanation 

(D) Both [A] and (R] are true, but (R] is not the correct explanation 

not expressly 

(C) A 5.Dg 56J. |R 5TJ60T LD Ffl 

Cast 

R 5TJG0T LD 5O9 

any 

Ppny 51-A ,6o1g5 aJaflÜuOLWTS SJlÖ5 ÜUL 
5L60LD560 OT llås6o 6n). 

44 



58. 
Choose the right matches 

(1) 

(ü) 

(Gi) Ambasankar Commission 

(iv) Report on T'amilnadu Backward 
classes Commission justifying 
the existing reservation 

(A) (i) and (iv) only 
(B) (ii) and (iii) only 

(C) 

The first communal order for distribution of appointments 
among various castes 

(i) 

First Backward class commission of Tamilnadu was appointed 

(D) (ii) and (iv) only 

(E) Answer not known 

(iv) 

(A) 

(111) gDUTEIHSt 60G00TLJ LD 

(B) 
(C) 

(i) and (i) only 

(E) 

(1) oDDb (iv) DLGD 

(1) oDpLD (i1i) DLGD 

(i) LDDDLD (ii) LDLGD 

(D) (iii) LoÒDILD (iv) D=QD 
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1920 

1970 

Reservation totalling 
to 69% 

gth July 2011 

1920 

1970 

Quonjs gL P5I`BG 69% 

8 ggn 2011 
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59. Why Business Firms choose Tamil Nadu as their preferra 
destination for investment? 

(A) The State of the Art Infrastructure 

(B) 
(C) More number of unemployed 

(D) More number of graduates 
(E) Answer not known 

(E) 

Gstay QsuAopT? 

(B) Jflisgms5�T 

Tax Concessions 

60. Name the scheme, a Tri-ministerial effort which includes Wome and Child Development, Health and Family Welfare and Huma Resource Development. 

(B) 
(C) 

(A) Integrated Child Development Schemne 

(C) 

(E) 

(B) Child Development Scheme 

loL sfluolina 

(D) Smnart City Mission 
(E) Answer not known 

Beti Bachao Beti Padhao Scheme 

GuLg J`STGour GuLq ugnGau LD (D) GiLDT0L ALg Lo 
len Qsflwelao 



61. 
Achieved growth rate of Eleventh Five Year plan is 

(A) 8,2% 

(B) 9.0% 

(C) 
(D) 7.0% 

(E) Answer not known 

(A) 

(B) 

10.0% 

8.2 8.2% 

(C) 10.0% 

9.0% 

(D) 7.0% 

(A) 

(E) lnL GsflwlanN 

62. According to Ragner Nurkse the starting point and continuation for 
development lies in 

Organised money market 

(B) Increasing the rate of capital formation 

(C) Technological growth 

(D) 

(D) Removal of dualistic economy 

(E) Answer not known 

(A) T`SSIULL UG0T` EBNS 

(E) lL Qsfluw6lbn 

47 

BGD. 
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63. Assertion [AI: The company asked the Collector of Ramnad 

Reason [R] 

(A) [A is true [R] is true 

(B) Both [A] and [R] is false 

aa,Dg1 [A] 

(C) Both [A] and [R] are true; and [R] is correct explanation of [A] 

(D) Both [A] and [R] are true; and (R] is not correct explanation of JA] 
(E) Answer not known 

51J60T LD R] : 

(A) 

(B) 

Summon Kattabomman to his office at Ramnad 

Kattabomman was asked to meet the Collector in 

connection with the arrears of tribute that ha 

owed to the company. 

(E) 

5LLOLumDDGNG0T 

[A] sfl, [R] sf1 

(A] DDgD R] 

CCSEI-IAP25 

5LDOflwrort5iT 

5LLOUmDLDGT GsiQiasnarTLLJLLT0. 

(C) [A] oDpo R] sfl; Gingyo [R] srGÜT LI8I [A] aja( sfilunr aflarsD 

(D) A] LoDgILD R] sfl; ogo R] GTGÚTLI8I [A] Qja(s sflune aflarsD 

Lurerfie 

48 



64. 
Which book features the series "Pagaivar pull Aarga"? 

(A) 
(B) Kalitthogai 

C) Aingkurunuru 

D) 

(E) 

(A) 

(B) 

(C) 

(D) 

(E) 

(A) 
(B) 

(D) 
(E) 

Natrinai 

65. Who gave special importance to Village Administration? 

(B) 
(C) 

Purananuru 

(D) 

Answer not known 

(E) 

IbÖDl6600T 

(C) Pandyas 

gÄl (SOHI 

4psTOI) 

Cheras 

Cholas 

(A) Gsgit 

Pallavas 
Answer not known 

Gemgt 

49 
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66. Assertion (A] : University students think more critically about 

Reason [R] 

(E) 

(A) 

(C) 

(C) 

(B) 

(D) 

(D) 

the new subjects and situation they encounter 

University professors encourage conceptual 

learning and understanding of the new subject 

[A] is true but [R] is false 

5TJ60TLD R]: 

concepts at the primary levels. 

Both [A] and (R] are true; and [R] is correct explanation of [A] 

CCSEI-IAP25 

[A] is false but [R] is true 

of [A] 

(E) Answer not known 

[A] and [R] are true, but R] is not the correct explanation 

(A) oDg AJ Gfl, 6TT�o 5ITJOOTL |R] 

sflune olaT`SDr(Gib 

UTLH56T 

50 
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67. 
Match the following: 

(a) Home Rule Movement 
(b) Kudi Arasu 

(c) Women's Swadeshi League 

(d) Abolition of Devadasi 

(A) 

(a) 

2 

(B) 3 

(C) 4 
(D) 3 

(b) G4uger 

(B) 

(b) (c) 

(a) 

(A) 2 

4 

(E) Answer not known 

4 

3 

2 

(a) uTLEl SS� 

(C) 4 

(D) 3 

(c) u6ÖÜT 5 60T Gsl srávs� 

(d) GsaugTl pap 9lÜs 

BpåsnaiLJQIDDDÜ GumGS5 : 

1 

(b) 

2 

4 

1 

4 

1 

3 

2 

(c) 

1 

1 

1 

system 

(E) olaL Qsflolan aN 

(d) 

3 

1 

2 

4 

(d) 

3 

1 

2 

4 

1. 

2. 

3. 

4. 

51 

1. 

2. 

3. 

4. 

S. Ambujammal 

Annie Besant 

Muthulakshmi Reddy 

E.V. Ramasamy 

S. AHyg DDmeT 

FF.oJ. JTLDTLD 

CCSEI-IAP25 

[Turn over 



68. Assertion [AJ: Art. 121 prohibits any discussion in parliament 

Reason [R] 

(A) 

(B) 

(C) 

(D) 

(A) 

(B) 

with respect to the conduct of any Judge of th 

Supreme Court or of a High Court in th. 

discharge of his duties. 

The objective of Art. 121 is to ensure the 

independence and dignity of the Judiciary. 

[A] is true but [R] is false 

5ITJ680T LD RÊ 

Both [A] and [R] are true; and R] is correct explanation of [A] 

(E) Answer not known 

[A] is false; [R] is true 

CCSEI-IAP25 

Both [A] and [R] are true, but [R] is not the correct 
explanation of [A] is correct 

n.Dg AJ LDDgD 5TJ G8T LD [R] QTGoT LD sfl; GDo 5TJ0T LD R .Dg 
Als5168T sfluraT 6loTs5� 

(C) oDg A] 5ug smJG0TLD R sfl 

(E) len Qgflualiw 

52 



69. 

1. 

2. 

3. 

4. 

Which of the following pairs are correctly matched? 

(A) 

(B) 
(C) 
(D) 
(E) 

1. 

2. 

3. 

4. 

(A) 
(B) 

(C) 
(D) 

(E) 

Right to Privacy 

Passive Euthanesia 

Right to Vote 

NOTA in Elections 

1 and 3 are correct 

1 and2 are correct 

2 and3 are correct 

3 and4 are correct 
Answer not known 

Gsitsásaflá GpLT 

I LoFb 3 sf 

l Lo�DLb 2 sfl 

2 DDDLD 3 sfl 

3 3 LDDDLb 4 sfl 

GlL 
sflwalibn 

53 

Justice K.S. Puttaswamy Rtd. 
Vs. Union of India 

Common cause 
Vs. Union of India 

Ministry of Defence Vs. Babita 

Puniya 

(Regd. Society) 

Swapnil Tripathi Vs. Supreme 
Court of India 

Vs. Obu porluD 

5ITLD 6OT 

Vs. Qtbu pTplwb 

yotlun 

UTGISTæY A0LD`GSD Vs. ul5T 

o6J6fl 

FråISLD) 

gflumg Vs. bßw 
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70. 

71. 

"Co-operative Societies" gave a constitutional status under 

(A) Article 243- ZH to 243 - ZT 
Article 243 - PH to 243 � ZA 
Article 243 - NH to 243 - ZH 

(D) Article 243 � HZ to 243 - ZH 

(E) Answer not known 

(B) 
(C) 

(A) T`S 243- ZH to 243 - ZT 

(B) T`5) 243- PH to 243 � ZA 

(C) sJ`SI 243 - NH to 243 � ZH 

(D) FJ`S 243 � HZ to 243 � ZH 

(E) 

Match the List I with List II : 
(a) Jal Jeevan Mission 
(b) Beti Bachao Betipadhao 
(c) Swachh Bharat Abhiyan 
(d) National Social Assistance Programme 

(A) 2 
(B) 2 

(a) (b) 

(C) 1 

(c) 
(d) 

(A) 2 

(D) 4 
(E) Answer not known 

(B) 2 

(E) 

(C) 1 
(D) 4 

(a) G4Bt auprasd LD 

4 

2 

CCSE-IAP25 

1 

l 

3 

(a) (b) (c) 
4 

1 

(c) 
1 

2 
3 

3 
3 
2 

1 

3 
3 
2 

(a) 

L Q5flulna 

4 
1 

(d) 
3 

4 

4 
1 

54 

1. 

2. 
3. 
4. 

1. 

2014 

3. 

2019 
1995 
2015 

2014 

2. 2019 
1995 

4. 2015 

3. 



72. 
Assertion (A] : A recent study by the World Health Organization 

Reason (R] 

(C) 

(A) [A] is true but [R] is false 

(D) 

(WHO) commissioned by the Jal Shakti Ministry 
reported that Jal Jeevan Mission would succeed in 
averting close to 4.00.000 deaths from diarrheal 

(B) Both A] and [R] are true; and [R] is the correct explanation 
of [A] 

diseases, saving approximately 14 million DALYS. 
lt is envisioned by the Department of Drinking 
water and sanitation to provide safe and adequate 
drinking water through individual household tap 
Connections by 2024 to all households in rural 
India. 

[A] is false, [R] is true 

5ITJGOT LD R: 

Both [AJ and [R] are true, but [R] is not the correct explanation 

of [A] 
(E) Answer not known 

aJogn GumiG GmLI5ATTÁ) DUGD 4,00,000 

Lláb aSlwGÝT 
QJSlna5ÜULL5 

2024 b T (Qa(5, dT gmuDnL;D @burala) 

oG5(ahiGD 5ilÜuLL 

DALYS 

LL6LÜULQTag. 

(A) Al sfl, T IT�O |R 5OUgI 

(C) [AJ 6ATITGO [R] sf 
(B) (A] LDDDILD RJ rorGb atl, DgD |R) TGôT LIGI A| D6 sluunaT 

(W) A] LoDDILD (R] AroT Qb sfl, TIN�) R] 

(E) lL QgflwalwDN 

GTGÖTDI LD 

55 
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73. The main aim of MUDRA Bank is to 

Provide financial assistance to develop Health Industry. 

Provide credit to Micro, Small and Medium enterprises. 

(ii) Provide Credit to develop Tourism Industry. 

(i) 

(ii) 

(iv) Provide financial assistance to rural development. 

(A) (i). (ii) and (iv) 

(B) (ii) alone 

(C) ), (ii) and (ii) 

(D) (i) and (ii) 

() 

(E) Answer not known 

MUDRA GJI`JEluIoot (pslu Gpni5LD TGTG) 

(ii) 

(ii) 

(A) (), (ii) LoDgLb (iv) 
(B) (ii) oLQo 

(C) (i), (ii) odDo (iii) 

(D) () DÓDID (i) 

(E) loL QgilwGlábna) 

'SELIA P25 56 



74. Arrange the following events in their chronological order. (1) 

(2) 

(3) 

(B) 
(A) (1). (3), (4), (2) 

Periyar published the book Pen Yaen Adimaiyanaal'. 

(2) 

(3) 

(4) 

Perivar started the 
Tiruchirappalli. 

(1) 

(4) The title Periyar was conferred by the Tamilnadu Women Conference held in Madras. 

(C) (4). (1), (2), (3) 
(D) (4). (3), (2), (1) 
(E) Answer not known 

Periyar was arrested for publishing a Tamil translation of Bhagat Singh's pamphlet Why I am An Atheist'. 

(1). (4). (3), (2) 

Guflwmt uGÜT J 6ÞT q 65) LDITGoTITGTT GT6�TD I`55605 ouafl uLm. 

(A) (1), (3), (4), (2) 

Tamil bimonthly 

(B) (1), (4), (3), (2) 

'Unmai' 

QuDTLUutÜOu QasafluL5hS15 Qufuumt oage QsüuiuLLmt. 

(C) (4), (1), (2), (3) 
(D) (4), (3), (2), (1) 
(E) lL Qsflwalw) 

at 
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75. Reason and Assertion type : 

Assertion (A) : Archacological 

Reason [R) 

(A) (A] is true but [R] is false 

(C) [A] is false 

(B) Both [A] and R] are true and [R] is correct explanation of [AI 

of [A] 

sn.,DD [A] 

5ITJGGT LD R] 

(A) 

(E) Answer not known 

early Roman trade. 

(D) Both [A] and [R] are true but [R] is not the correct explanation 

excavations 

Pattanam, Ernakulam, Kerala unearthed signs of 

(C) [A] Baug 

:The excavation proved that Pattanam was a na 

of Muziris, the port city of the Sangam Cheras. 

CCSEI-IAP25 

conducted 

GsjrD, Gr0tGSOT IT(E5,6TSl GT6T 

GgmDTeil w auraaflssnSH G5flolspg. 

(B) [A] oDgD RJ sfil oogIo |RÊ Gr6TLIgI [A]-ÑT sflumr ala`D GÒ 

In 

uGsuTES ULLG0oTLD 5�S5| GTGoT LI GD5 AIHAITJmLiSSI BlessfpJ. 

(D) (A] LDDgD R} sfl yatTÓ) R] GrGÖT LI) A-ÝT fluGST laTas 85� HNN (E) GleDL Qfluwal dena 

58 



76. The salary of A, B and C together amounts to Rs.33,300. If they spend 80%, 85% and 75% of their respective incomes, their savings are as 7:6:9. Find the salary of B. 
(A) 
(C) 
(E) 

(A) 
(C) 

AIJONH 0)LW oJ (HLDTGOTÉlá 
QsO olLsloTp ot0t. GDAI LD 

(E) 

(E) 

(A) 

Rs. 8,000 

(A) 40 
(C) 120 

(E) 

Answer not kn0wn 

77. Three numbers are in the ratio 3: 4:5 and their L.C.M. is 2400. The H.C.F of these numbers is 

5.8,000 

3 : 4 : 5 GT6ÞTD 

Rs. l5,000 

(C) 
(E) 

Answer not known 

(C) 120 

5. 1l5,000 

(C) 

HdlsoT LB.GUm.QJ. 

(A) 11 

40 

many pairs are available? 

14 

78. If a, b are two digit numbers such that HCF(a, b) = 15. Then how 

(A) 11 

Answer not known 

14 

(B) Rs.10.000 
(D) Rs.12,000 

5bS) (Lpp Gu, 80%, 85% oDgD 75% 
5.33,300. 

out5(GLW GsliLy 7:6:9. GTGoflé B-o 

l5SSlo) 6)LDIBS 3 GTGÖÜT SOfl 6ßr LB.um.D 2400 Greflá 

(B) (.10,000 
(D) .12,000 

(E) lL Qsflualábn 

(B) 80 
(D) 200 

(a, b) G LÑLIQu(IE QuTSI GH l5 oÔgD a, b u6naI fl`S GTG`T E5dr 
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(B) 80 
(D) 200 

(B) 12 
(D) 15 

(B) 12 
(D) 15 

CCSEI-IAP25 
[Turn over 



79. 

80. 

Which of the following statements are correct about PFAS? 

(i) 

(ii) 

(iii) 

(A) 
(C) 
(E) 

(i) 

(ii) 
(iii) 

(A) 
(C) 
(E) 

&pssmgoyò so,ÔpiHsafl á PFAS LuDplu sflumaT SR.DDI`ssNaT GsibQsGsa,b. 

PFAS is per and poly fluoro alkyl substances. 

It is used in paint industries. 

(E) 

PFAS are endocrine disrupters. 

(E) 

(i) and (i1) are correct 

(1) and (ii1) are correct 

Answer not known 

LsGT 

(1) LDÖMLD (11) sflurer60 aJ 

(A) Microbes 

The biological oxygen demand is the amount of dissolved oxygen 
required by 

(C) Animals 

Answer not known 

(C) ler`I(G, 50T 

(B) (ii) and (iii) are correct 

(D) (i) only correct 

aleL Qsfluslia 

(B) (i) nDgILD (iii) sflunioau 
(D) () DLGD sflungi 

in water. 

(B) Plants 

(D) Seaweeds 

(B) Qsq, sdT 

(D) LÔUTls�T 



81. 
Which one of the following is correctly matched? 

(A) Champaran Agitation 

(B) Ghadar Party 
(C) Ganapathy Festival 
(D) Home Rule Movement 

(E) Answer not known 

(A) 

(B) 

(C) 

(D) 

(E) 

in 1908. 

(A) March - April 

82. In Tuticorin, Tamil Nadu, Subramaniya Siva Campaigned for strike 

(C) February -March 

(E) 

1908 

GungmLLaßbG 

(A) 

(C) 

Answer not known 

(E) 

LDT` 

Bal Gangadhar Tilak 

Qsiisnt. 

Lala Hardayal 
Annie Besant 

Gandhiji 

(B) January � February 

(D) April � May 

(B) graufl - 9ugaufl 

(D) JÜJe) � Go 

CCSEI-IAPP5 



83. Consider the following Statements, ChoOse the correct answer : 

(i) January 30th is the Death anniversary of Annal Gandhi Adigal 

(ii) January 23rd is the Birth Anniversary of Netaji Subash 

Chandra Bose 

(iii) April 14th is the Birth Anniversary of Annal Ambedkar 

(iv) October 13th is the Birth Anniversary of Sardar Vallabhai Pat 

(A) ) and (ii) only correct 

(B) (iv) only correct 

(C) (iii) only correct 

(D) i), (ii), (iii) only correct 

(E) Answer not known 

(iv) sitsrd QJDANImÚ LGLG SpBs arLD LTut 13 

(A) 

(B) (iv) o=Qb sfl 

(C) 

)DDJID (i) DLQD efl 

(E) 

(iii) DL Gb sfl 
(D) (1), (ii), (iii) LDLQb sfl 



84. Arrange the following stages in the enactment of Budget in Ascending order 

Voting on Demand for grants 
2. Passing of Finance bill 
1. 

3. 
4. 

(C) 
(A) 2, 3, 1, 4 

(E) 

1. 

3. 
4. 

(C) 
(A) 2, 3, 1, 4 

(B) 
(C) 

Passing of Appropriation bill 

(E) leL QsfluoldnN 

(D) 

Scrutiny by departmental committees 

(E) 

(A) 

4, 1, 3, 2 

(B) 

Answer not known 

85. Consider the following statements about the Electoral College of 
Presidential Election, which among the following statements is 
correct? 

(C) 

(A) The nominated member of Lok Sabha 

4, 1, 3, 2 

(B) 1, 2, 4, 3 
(D) 3, 1, 4, 2 

(B) 1, 2, 4, 3 
(D) 3, 1, 4, 2 

The nominated member of Legislative Councils of Stat 

LDmbl 

(E) eleL QsfluwalNN 

The Elected members of both Houses of Parliament and 

elected members the State Legislature and Union Territories 

The nominated member of House of states 

Answer not known 

63 

LDÖDILD GstHOgi5ÜULL FLLDGTD 2MIÜloisd 
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(D) 

(E) 

tion [A|: The overall policy framework for the social sectow. 

n R] 

(D) 

in India is laid out by the Central Government, 

The State governments have 

B) Both [A] and R] are true; and R] is not the correct 

(C) Both [A] and [R] are not true 

flexibility in designing policies. 

Both A] and [R]l are true; and [R] is the correct explanation 

of A) 

5TJ60T LD R]: 

CSEI-IAP25 

explanation of [A] 

[A] is true and (R] is false 

Answer not known 

GbflaZ 56NGDLD6DIS GsmGÖoT GGTGTaT. 

[Al s56T flumGSI 6loTb5LDIT(GD 

(B) ÓD (AJ 51J60TLD [RJ ior GD fl; opgD sTJONTLD R] ng 

(O) n.Dp (A] snyGTLD [R]paoT GD lunarg) 

considerable 

(E) flaoL Qgfilwalden 

64 



87. Which of the following statement(s) are correct about Tamil 
Pudalvan" Scheme2 

(i) Launched on October 2024. 

(i) Improve the financial status of all male students studying in 
government school after school education. 

(ii) Monthly financial assistance of Rs. 1,000. 
(A) () only 

(B) () and (ii) only 

D) 

(C) (ii) and (iii) only 

) and (ii) only 
(E) Answer not known 

Qgfilay Qsis. 

i) `GLTLut 2024-@ QsmL`SÜULLg. 

(11) uGTafl LILIIgÜL;`Gn 9bgu AJFÜ LTafl LoTGOTGJTsofl 6or GoMLIQÜyG(5,` 

(i) oms 9âugoluns (GUITÜI 1,000 aupriiuâpg. 

(A) (i) LDLGLD 

(B) () oDDD (i) DLGD 

(C) (i) LDDDLD (ii) DLGD 

(D) ) DDDLb (iii) LDLGD 

65 CCSEI-IAP25 
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88. Match the following: 
(a) Jawaharlal Nehru 
(b) S.N. Agarwal 

(c) JP. Narayan 

(d) M.N. Roy 

(a) (b) 

(A) 4 

(B) 4 
(C) 2 

(D) 1 

(a) 

2 

(A) 

3 

3 

(E) Answer not known 

(b) S.N. As0AuTs) 

(c) J.P. 6rgTwßÝT 

(d) M.N. gru 

(B) 4 
(C) 2 

gauaDtOnO Gp5 

(a) (b) 

(D) 1 

(c) 

3 

2 

2 

3 

3 

4 

4 

(c) 

2 

3 

(d) 

4 

1 

1 

1 

2 

(d) 
1 

1 

1 

1. 

2. 

3. 

4. 

1. 

2. 

3. 

4. 

People's plan 

Sarvodhaya plan 

Gandhian plan 
National Planning 
Commission 



89. 

Choose the right matches among type. 

(1) 

(2) 

(3) 

(4) 

(A) 

(B) 

(C) 

(D) 

(E) 

(1) 

(2) 

(3) 

(4) 

(A) 

(B) 

(C) 

Krishnabai Nimbkar 
Rukmini Lakshmipathi 

(E) 

Antony Ammal 

Manjubhashini 

(1) and (3) are correct 

(1) and (2) are correct 

(2) and (3) are correct 

sflumer Gum(G`5 QJGNHODU  GsiHGs65ajLb. 

(3) and (4) are correct 

Answer not known 

sl(hoiy0T IT LITLI 6lLbS0 

(1) oÖo (3) fluinrnal 

(1) Lo�M� (2) sflwnaOI 6) OJ 

(2) DÖDLD (3) sflwre60) OJ 

(D) (3) LDÖDJLD (4) sfluwTGOT 6D GI 

Madras Youth League 

67 

President of the Madras 

Women's Students Organisation 

Pankaja Textile Mill 

Acting President of the Tamil 
Nadu Congress Committee 

during Quit India Movement 

Qauafl Guwg gwas $or Gung 

CCSEI-IAP25 
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90. Which of the following statements are true? 
1. All the religions were accepted and appreciated in Thirukkural 

2. Every religions ratified the views of Thiruvalluvar 
3. 
4. 

(C) 
(A) 1 and 2 only correct 

(E) 

1. 

2. 

sflumar QlgTLDJ` 5GT L ls. 

3. 

4. 

(A) 

(C) 

2. 
3. 

4. 

(A) 

He didn't believe morality 

(E) loL QsfluSlávDD 

(C) 

Valluvar said that men with high principles deserved to live as 

91. Arrange the following in order: 

(E) 

1. 

2 and 4 only correct 
Answer not known 

2. 

4. 

1 l oogo 2 wLQo sfl 
2 LoÓgD 4 DLQU sfl 

1. The goodness of the help to domestic life 

ADdpplul YHSLOTGT BLDLSsn5ugpat. 

The possession of love 
Domestic life 
The obtaining of sons 

3. 1, 4, 2 
1, 2, 4, 3 

Answer not known 

9eTLY60L 6)LD 
3. duhsns 

(A) 3, 1, 4, 2 
(C) 1, 2, 4, 3 

CCSE-IAP25 

(E) laL Qfluafleba 

(B) 
(D) 

68 

2 and 3 only correct 
3 and 4 only correct 

(B) 2 LoDDo 3 LQU sl 
(D) 3 obpo 4 DLQD sfl 

(B) 2, 3, 1, 4 
(D) 3, 1, 2, 4 

(B) 2, 3, 1, 4 
(D) 3, 1, 2, 4 



92. 
One R Rutherford is equal to 

(A) 

(B) 

(C) 

(D) 
(E) 

(A) 

(B) 

(C) 

(D) 

(E) 

93. Kessler syndrome refers to 

(C) 
(B) Light Pollution in space 

(D) 

(A) Radio Frequency Interference in space 

(E) 

108 disintegrations per 

(A) 

per second 

104 disintegrations per second 
106 disintegrations per second 
1 disintegrations per second 

Answer not known 

(B) 
(C) 

Gsoia floTL BgTD GTGOTæUQQUg 

(E) 

Answer not known 

106 

(D) ige, 

1 

Accumulation satellite fragments, spent rocket stages 

other discarded materials in space 

Formation of Cirrus, Cumulus, Cumulo Nimbus clouds that 

distracts the light penetration 

FLDLOT60T5)? 

69 

and 

CuTGOTD CDsT`J5GT ITGD (G, flw orfl ul Gor 

CCSE-LAP25 
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94. Match the following type 

Match correctly the Nationalist Papers and its Authors: 

(a) Subramaniya Bharathi 

(b) Mrs. Annie Besant 

(c) G. Subramanya Iyer 
(d) P. Anandacharlu 

(a) 
(A) 1 

(B) 3 

(C) 3 
(D) 2 
(E) 

(b) 

(a) 

3 

(A) 1 

1 

(B) 3 

4 

(C) 3 

1 

Answer not known 

(d) P. grbSET0g 

(D) 2 

sflumraun6opi GunGgIS : 

(a) LIL9lguo eofluw Lunglunt 

CCSEI-AP25 

(b) Mrs. ôI GflOuFÖTL 

(c) G. FÜLAlJLDGsflus gut 

(c) 
2 

4 

1 

3 

4 

4 

1 

(b) (c) 
2 

4 

1 

(E) leL Q5flueil aD 

(d) 
4 

2 

2 

3 

(d) 
4 

2 

2 

1. 

2. 

3. 

4. 

1. 

70 

2. 

3. 

4. 

Swadesamithran 

Madras Mahajana Sabha 

India 

New India 



95. 

Reason and Assertion type: 

Assertion [A] :Muhammad Ghur attacked the Fortress 

Reason [R] 

(B) 

(A) A| is true, but [R] is false 

(C) 

(D) 

(E) 

(A) 

(B) 

(C) 

5TJ680T LD R] 

(E) 

Tabarhind, a strategic point for the Chauhans ot 
Ajmer. 

The Ruler of Ajmer Prithvi Rai Chauhan marched 

to "Tabarhinda and faced the invader in the first 

Battle of Tarain (1191) 

Both |A| and [R] are true, and [R] is the correct explanation 

of [A] 

A] is false, [R] is true 

Both A] and R] are true, but [R] is not the correct explanation 

of [A), [A] only is correct 

Answer not known 

[A] 

of 

Llwmard 

BLTfl (1191) 
UDLOuÜumorT 6) J 6T6lit GsnooT L Td. 

9_600T60) LD. 

5TGflITT. 

71 

(D) (A] LoÖDLD [RJ GöoT (LD fl, OImc) [R] GTGÖT LI5 A| T sflun68T 

GLDQLD [R] GrGÖT L5 (A] T flunaT 

CCSE-IAP25 
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96. Which of the following is correctly pair/pairs? 

1. 

2. 

3. 

(B) 

4. Twentieth Law Commission 

(A) 1and 4 

Fifth Law Commission 

Tenth Law Commission 

1. 

Nineteenth Law Commission 

(C) 2 and 3 

2. 

(D) 3 and 4 

3. 

(E) Answer not known 

4. 

1 and 2 

Bb5TaIg LL ,6n GTLJD 

(A) 1 DDgD 4 

(B) 1 DDpLD 2 

(C) 2 LDDpLb 3 

(D) 3 LoDgID 4 

CCSEI-IAP25 

(E) efleL Qgflualá 

72 

K.V.K. Sundaram 

Justice K.K. Mathew 

Justice M. Jagannadha Rao 

B.S. Chauhan 

Bugsi. Gs.Gs. Gou, 

9.oToU. lsor5IT6T 



97. 
Match the following parts of the Indian Constitution with their 

corresponding subject-matter. 

(a) 

(b) Part XV 

Part XIV 

(c) Part XVIII 

(d) Part XX 

(A) 3 
(a) 

(B) 2 

(C) 4 
(D) 1 

(A) 

(a) uG, XIV 

(b) uG XV 

(b) 

(a) 

(E) 

1 

(c) G XVIII 

3 

(B) 2 

(d) uG XX 

(C) 4 

4. 

2 

(E) Answer not known 

(D) 1 

4 

(b) 
1 

4 

2 

(c) 

4 

4 

1 

1 

3 

(c) 

4 

1 

1 

3 

1. Elections 

2 

3. Services under the Union and States 

4. Emergency provisions 

(d) 
2 

3 

3 

2 

1. Gsigdsdtr 

2. 

Amendment of the Constitution 

3. Disu Dogb LDTIBaVÜ uaofls� 

4. GG SI4 bl HDEHJ5�T 

(d) 

2 

3 

2 

73 
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98. Find the elements of India's climate action: 

(i) 

(ii) 

(iii) Planting trees and stopping deforestation 

(A) 

(iv) Reduce Carbon Intensity and Carbon Emissions 

(B) 

(C) 

(D) 
(E) 

(i) 

(ii) 

(iii) 

Net-Zero Emissions by 2070 

Increase Non-Fossil Energy Capacity and Renewable energy 

share 

(C) 

(D) 

(E) 

(i) and (ii) only 

(ii), (iii) and (iv) only 

(i), (iii) and (iv) only 

(A) () oDpD (1i) DLQD 

(B) (i), (ii) oDgb (iv) D=Go 

), (ii) and (iv) only 
Answer not known 

i), (iii) DDgo (iv) DLQD 

(i), (ii) LodpLo (iv) oL Q 

CCSEI-IAP25 74 
3. 



99. 

Arrange the following programmes in chronological order : 

Y Pradhan Mantri Awas Yojana -Gramin (1) 

(9 Deen Dayal Upadhayaya Grameen Kaushalya Yojana (2) 

(8) Pradhan Manthri Gram Sadak Yojana 

(4) Samagra Shiksha Abhivan 

(A) (1), (2), (3), (4) 

(B) (3), (1), (2), (4) 

(C) (3), (4), (1), (2) 

(D) (3), (2), (1), (4) 

(E) Answer not known 

(1) 9rsmGT LDBlrfl yTiv GuTgaIT - gmLBeT 

(2) GoT 5UTT 9UTGTLumw slgmbe GsersOu GuTgaT 

(3) 

(4) 
FLD`J Flsag L9umT 

(A) (1), (2), (3), (4) 

(B) (3), (1), (2), (4) 

(C) (3), (4), (1), (2) 

(D) (3), (2), (1), (4) 

(E) aDL Qsflwalan 

75 

CCSELIAP25 
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100. Which of the following statements are 

Mutiny? 

(i) 

(iü) 

(A) 

(iii) After the Mutiny, the family of Tippu was transferred to 

Madras. 

(iv) The British captured more than 2000 Indian Soldiers. 

(C) 

(D) 

(B) (ii) and (iii) only 

(E) 

The Mutiny was lasted for eight hours. 

i) 

(i) 

The Mutiny was lost its importance due to local treachery. 

(i) only 

(i), (ii) and (iv) only 

(i), (ii) and (iv) only 
Answer not known 

LDIrÖDnLLLg. 

(iv) ÉEIGawisai 

CCSEI-IAP25 

(A) () LDLQÜ 

2,000-%G 

(B) () LoDgID (i) oGLD 
(C) (), (i) oDgo (iv) oLQb 
(D) (ii), (iüi) oogLo (iv) DLG 
(E) loL QgfluuGfl nA 

true regarding Vellore 

76 

GopULL 

9_600T 60) LDIT60T 

1 





















































135. 
Which of the following statements are true about "The Chief Minister's Breakfast Scheme"? 

(i) 

(ii) 

(iii) The scheme has led to improvement in learning skills among 

A) 

It has increased student attendance to high schools 

(iv) The scheme is limited to government sch0ols only 

Primary school children benefit from the scheme 

(E) 

children 

(B) (ii) and (ii) only 

(C) i) and (iv) only 

(i) 

(i) and (ii) only 

(D) (ii) and (iv) only 

(E) 

Ar 

9_60T 6O LD? 

Answer not known 

(A) () oÖgo () DLGD 

(B) (i) LoÖMLD (1ii) o Qh 

(C) () LDÓDLD (iv) o Gb 

(D) () ooDo (iv) oLQt 

103 
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136. Match correctly booksljournals with authors 

(a) 

(b) History of the Justice Party 

(c) 

(d) Justice Movement 

(A) 2 
(B) 1 
(C) 4 

(D) 1 

(a) 

(b) 

(a) 

(c) 

(d) 

The Mirror of the year 

(a) 
(A) 2 
(B) 1 
(C) 4 

From Sir Theagarayar to 
Dr. Kalaignar 

(E) Answer not known 

(b) 
3 

CCSL-IAP25 

2 

3 

(b) 
3 

Dr. 560(G5ÎT GJ0)IJ 

2 

(D) 1 3 

(c) 

3 

4 

3 

2 

2 

(c) 
4 

3 

2 

2 

(E) ofl Qsfluicliwe 

(d) 
1 

4 

1 

4 

(d) 

4 

1 

4 

104 

1. 

2 

3. 

2. 

A.P. Patro 

4. A.R. Mudaliar 

3. 

N.S. Elango 

1. A.P. Bu= Ggn 

4. 

Muthusami Pillai 

N.S. QT ̀  G 

A.R. (p56lut 

sflumsn 



137. Assertion (A| 

Reason (R] 

(B) 

C) 

(A) [A| is true, but |R] is false 

There has been a significant rise 
percentage of labour force engaged in Industrial 
sector during 1 990s and 2000s. 
There has been a significant rise in 

aJ68T LD |R]: 

(C) 

A] is false, [R] is true 

(E) Answer not known 

1n the construction sector between 1991 and 2011. 

Both A| and [R] are true: and [RI is the correct explanation 
of (A] 

D) Both |A< and (R] are true, but [Rl is not the correct explanation 

of [A] 

ol or`s5 LDG)AD 

(A) A] sfl, G) |Rg 

in 

1990sc LDDgLD 2000soflá G5lgopule 

AJ 5on. [R] snl 

the 

employment 

1991 LoÓDLD 2011 � onr5(6T5` (E5 QLL 

(E) olL Qaflwol oe 

(D) [A] 
R] GrÖTLu5 A| oDG` sfluuraT 

03 

CCSELAP25 
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138. The Ocean of birth swims, Swims and does not join the Lord' 

(A) 

(C) 

is the philosophy of this Kural? 

(E) 

(i) 

(A) Siva Philosophy 
(C) Surrender Philosophy 

Answer not known 

139. Thirukkural Uraiasiriarkal : 

(E) 

(ii) 

(iii) Ki. Va.Ja 

(i) 

(iv) Dhandapani Thesigar 

(ii) 

(A) (i) only 
(C) (ii) and (iv) only 

Pariperumal 
Dharumar 

(E) Answer not known 

(A) 
(C) 
(D) 

(iii) 6.oJ.21. 
(iv) 56ôoT L LITG00l G5lsi 

)LDLQ 
(iii Lopprb (iv) oCQ 

(B) Vidhya Philosophy 

(D) Soul Philosophy 

(B) l$uT 5$56ub 

(D) T LD 5HGuD 

(B) (1), (ii) only 
(D) (iv) only 

Lord -Wha 

(B) (). (ii) LocGL 
(D) ((v) oLQD 



10. 
Find the next term 
0.5. 0.6. 1.5, 4, 9 

E) 

A 

05. 0.6. 15, 4. 89 

C 

12.6 

(A) 

143 

(C) 

Answer not known 

4. B. C. D. E and F are cousins. No two cousins are of the same age 
but all have birthdavs on the same date. The youngest is l7 years 
old and the oldest E is 22. F is somewhere between B and D in age. 

A 1s older than B. C is older than D. Which of the following is not 

possible? 

(E) 

126 

143 

Dis 20 vears old 

A. B. C D. E 

Fis 19 vears old 
Answer not known 

(B) 135 
(D) 170 

107 

(B) F is 18 vears old 

(D) F is 20 vears old 

B) F aet ai ou 18 

D) F.utlT QUIG 20 

CCSEI-IAP25 
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142. 
Choose the 

incorrect 
answer of forest types and their species in 

India. 

(1) Evergreen forest 

(2) 

(3) Tropical forest 

(3) 

Monsoon forest 

(A) () only 

(B) (1) and (3) only 

(C) (2) only 

(1) 

(D) (2) and (3) only 

(E) Answer not known 

(A) (1) LDL G 

(B) (1) DDgIo (3) DL GLD 
(C) (2) oLQb 

(D) (2) LoDgIo (3) oL Qb 
(E) Glo Qsluuel évee 

CSELLAPe3 

Rose wood, Toon, Ebony, Gurjan 
Silver fir, Walnut, Deodar, 

White Willow 

Chir, Blue Pine, Spruce, Cypress 

GymavayL, Gsat, 5IG TåJ 5 165. (Gsiga 

1 



143. 
On 241h September 1932, Poona pact was signed between (4) 

(B) 

(C) 

(D) 

(E) 

1932 

(A) 

(B) 

(C) 

(D) 

Gandhi Irwin 
Gandhi Jinnah 
Gandhi Ambedkar 
Gandhi Ramsay Mac Donald 

Answer not known 

(E) ln Qsfluwali 

T44. Cho0se the right matches 

(1) Ferosha Metha 

(2) Gopala Krishna Gokhale 

(3) Dadabhai Naoroji 
(4) S.N. Banerjee 

(A) (2) and (3) are correct 

(C) (2) and (4) are correct 

(E) 
Answer not known 

(1) 9GgIrOgr Goö51 

(4) S.N. unarit 

(A) (2) oÖgo (3) a 
(C) (2) (1) sil oonu 

() oo 
Qsflualáo) 

24i0 

109 

Disciple of Gokhale 

Servants of India Society 

Drain Theory 
Safety Valve Theory 

(B) (1) and (2) are correct 

(D) (3) and (4) are correct 

(B) (1) LoDDL (2) sfl 

(D) (3) ooDD (4) sfl 

CCSELIAP2. 
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142, Choose the incorrect 
answer of forest types and their species 

Rose wood, Toon, Ebony, Gurjan 
India. 

() Evergreen forest 

(2) Monsoon forest 

(1) 

(3) Tropical forest 

(A) () only 

(B) (1) and (3) only 

(C) (2) only 

(D) (2) and (3) only 

(E) Answer not known 

(3) yD~£lu Grens 5nG5dT 
(A) (1) D= Q� 

(B) (1) oDgIo (3) D QLD 
(C) (2) 1DLQb 

(D) (2) oDgo (3) DQ 
(E) ol0L Ggfluol v ao a 

Silver fir, Walnut, Deodar, 
White Willow 

Chir, Blue Spruce. Cypress 



On 
24th September 1932, oona pact was siened between Gandhi ) Gandhi 

(B) Gandhi Jinnah 
(O Gandhi -Ambedkar 

(D) Gandhi - Ramsay Mac Donald 
(E) 

Answer not known 

1932 

T4 

() 

B) nb8lIT 

(C) 

D) 5b -

Irwin 

E) lanL siluolaoa) 

Choose the right matches : 

(1) Ferosha Metha 

(2) Gopala Krishna Gokhale 

(3) Dadabhai Naoroji 

(4) S.N. Banerjee 

(A) (2) and (3) are correct 

(C) (2) and (4) are correct 

(E) Answer not known 

stlunear Glumh`BT`I56D AT GzitbGsQ55 : 

(1) 9GyOgT Go5I1 

(2) GeLUA 

(3) 

(4) S.N. unaoig 

24io 

(A) (2) LDÖDLD (3) sfl 

(C) (2) LoDDILD (4) stl 
(E) Qafluelvoa 

Disciple of Gokhale 

Servants of India Society 

Drain Theory 
Safety Valve Theorv 

(B) (1) and (2) are correct 

(D) (3) and (4) are correct 

(B) (1) oDDD (2) sfl 

(D) (3) DDgLD (4) sfl 

CCSELlAP: 
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145. The objective of the National Human Rights Commission are: 

() To strengthen the institutional arrangements thhrough which human rights issues could be addressed in 

more focussed manner 

o) To look into allegations of excesses, independently c8 
gOvernment 

(E) 

() To contrast and strengthen the efforts that have allready beer made in this direction. 

(A) (i). (ii) and (ii1) are correct 

(B) (ii) and (iii) are correct 

(C) (i) and (ii) are correct 
(D) (i). (ii) and (iii) are incorrect 
(E) Answer not known 

(i) b5 enua 

(A) (), (ii) obguo (iii) sfl 
(B) () oonb (iii) sfl 
(C) ) oDgub (i1) shl () 
(D) (). (ii) oono (i) 5og 

their entirety 

eogilwofliana 



146 

Which of the following statements is true about Article 21? 
() This article reminds us of one of the famous clauses in Magna Carta. 

(1) The constitution does not confer right to die. 
(ii) Custodial death is perhaps one of the Worst crimes in a civilized 

society governed by Administrative Law. 
(A) () only 

B) () and (ii) only 

C) () and (iii) only 

(D) (ii) and (iii) only 
E) Answer not known 

(A) (i) DL QLD 

(B) () LDDMILD (i) D QiD 

(C) () ) oDDLb (iii) ocQb 

(D) (ii) LDDDLD (üi) DLOD 

() on Qfluolvo 

111 
CCSEI-IAP25 
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147. Choose the right 
matches: 

() 

(3) 

(2) 

(4) 

(2) 

Shvama Prasad Mukheri 

Rurban Mission 

(A) (1) and (2) are correct 

(1) 

(3) 

Saansad Adharsh Gram Yojana 

(B) (1) and (3) are correct 

(C) (2) and (3) are correct 

Rashtriya Gram Swaraj Abhiyan 

(D) (1) and (4) are correct 

Deen Dayal Antyodaya Yojana 

(E) Answer not known 

(4) 6 undt b3GungLIT Gung oTIT 

(A) (1) oDgo (2) sfl 

CSELIAD95 

(B) (1) oggo (3) sfl 
(C) (2) LoÖgo (3) sfl 
(D) (1) LDODLD (4) sfl 

Integrated C Cluster Action Plans 

Skill training to global 
standards 

E-governance in 
Panchayats 

Poverty alleviation 
through SHGs 



148. 

Which 

() 

pevelopment Index (CDD? 

of the 

(B) 

following statements are 

() Health, Nutrition and Education are the three indicators 

(A) (ii) 

CDI was developed by the 'Save the Children' campaign. 

conventionally used for measuring CDL. 
(ii) CDI is calculated in the same way as that of HDI. 

(i) and (iii) only 

() and (1i) only 

C) i) and (iii) only 

(D) (), () and (iii) 

E) Answer not known 

(ii) CDI % 

(E) 

(i) 5b05EGn aT` BTÜGumD' Agasry0ST�) CDI 2 (HauTGSÜULLg. 

(A) (ii) LoDDID (i) oQiD 

true 

(11) HDI s1GÜUQ Gs apluo CDl 
sarsLÜLGaDs. 

(B) () LDDOD (ii) iDL QD 

about Child 

(C) () LDDMLD (ii) oQb 

(D) (), (i1) LoÖLD (iii) 

113 

CCSELLAP2 
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149, Choose the right answer among type : 

(i) 

(i) 

(i) Chinnamanur 

(A) 

(C) 

(B) 

(ii) 

(E) 

The Ashoka's Inscription was found at Brahmagiri 

(iii) Thirukkovilur Inscription mentions the death 

which was published by T.A. Gopinathanayar 

Pandian Nedunchezhien. 

(iv) Ancient inscriptions not available in Karnataka till AD 10 

(C) () and (ii) only right 
(D) (iii) and (iv) only right 

Seppedu 

() and (iii) only right 

(i) and (iv) only right 

(iv) 4.9. 10 

Answer not known 

SELIAP25 

(A) () oÖgo (11i) oL QÚ sl 
(B) (i) LDggo (iv) oc Qb sfl 

(D) (Gii) obyo (iv) D= Q sfl (E) leoL QgfluGlov ana 

mentioned Thalaiyalanganath 
of Avvayar, 

150 



150 

IWhich of the following is incorrectly paired? 
() 

(2) 

(3) 

(A) 

(4) Lord Canning 

(C) 

Sir Thomas Munro 

B) (1) and (2) 

(1) 

Sir Charles Metcalfe 

(2) 

Lord Wellesley 

(3) 

D) (3) and (4) 

(4) 

(1) and (4) 

E) Answer not known 

(2) and (3) 

(A) (1) oÖgD (4) 

(B) (1) LoDgo (2) 

(C) (2) oopyo (C3) 

(D) (3) DÖgo () 

(E) Cgtluoláne 6flo 

Licensing 
Tiberator of the ndian Press 

Act of 1857 

Printers name at the bottom of the 
paper 

System of License and Censorship 

115 
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151. Match the following : 

Excavated sites in Tamil Nadu 

(a) Chennai 

(b) Tanjore 

(c) Dharmapuri 

(d) Erode 

(A) 4 

(B) 2 

(C) 3 

(D) 4 

(a) (b) 

(a) sEN EAT 

(b) s655Qt 

(c) stuufl 

(E) 

(d) mGgn 

(A) 4 

(B) 2 

(C) 3 
(D) 4 

(E) Answer not known 

(a) (b) 

CCSEL-IAP25 

2 

2 

1 

1 

1 

1 

1 

(c) 

1 

3 

(c) 

2 

1 

3 

2 

2 

2 

(d) 
3 

4 

4 

4 

3 

(d) 
3 

4 

3 

1. Mallapadi 

2. 

3. 

4. 

2. 

3. 

1. LDG)GDLITiq 

4. 

Kambar Medu 

116 

Kodumanal 

Pallavaram 



Match the followimg hormone with the disorder caused: (a) Insulin 

b) Thvroxine 

c) Glueocorticoids 

d) Growth hormone 

(A) 5 

(B) 2 

(C) 

(a) 

(D) 2 

(a) 

(c) 

(d) ouoT0t`El 

(C) 

(a) 

(A) 5 

(b) 05g TGflot 

(B) 2 

(b) 

E) Answer not known 

QG-GSl ciT 

1 

5 

4 

(D) 2 

4 

4 

(c) 

(b) 

2 

3 

1 

(c) 

(d) 

3 

1 

3 

(d) 
3 

3 

2. 

3. 

4. 

5. 

1. 

2. 

3. 

4. 

5. 
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Cushing's syndrome 
Diabetes insipidus 
Aeromegaly 

Goitre 

Diabetes Mellitus 
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153. Match the following : 

(a) 

(b) Amatya 

(c) Sachiva 

(d) Sumant 

(B) 1 

(c) 

(C) 2 

(A) 1 

(D) 3 

(B) 

Peshwa 

(a) (b) 

(a) Gu6ig6UT 

(d) sob× 

(A) 1 

(a) 

(b) m£ut 

(C) 2 

(D) 3 

(E) Answer not known 

COSEiAPer 

(b) 

2 

4 

2 

3 

4 

2 

3 

2 

3 

(c) 

2 

4 

3 

2 

(c) 

4 

1 

(E) olen 5fluoláeo a 

1. 

2. 

3. 

4. 

3. 

2. Chief Minister 

1. 

1 

4. 

4 

3 

4 

(d) 

4 

(d) 

3 

1 

4 

Foreign Secretary 

Finance Minister 

Superintendent 



154. Assertion 

Reason [R] 

A A] and |R] are correct; and [RI is the correct explanatiOn for |A| 
B) A] and |K] are correct; and [RI js not the correct explanation for (A] 
(C) JA] is correct; |R) is wrong 
(D) |A] is wrong; |R] is Correct 

DO A 

E) Answer not known 

5TJNT LD RÊ 

(D) (A 5JD; 

(E) 

The zonal councils 

constitution. 

(A) A LDÖDID [R] sfl, oDgD [A] a(5 [R] sflune aflar SD 

(B) A LoÓDD |R| sfl, LDDDD A] a(5 R] sflunar alrsSLDÁJN 

(C) (A] sfl; 6oTTGD R 5OJg 

year 

The zonal councils are the logical outcome of the reorganisation of states on a linguistic basis. 

6lL 

(A) 2013 
(C) 2014 

(E) 

LD GÐOT L6U 

(E) 

(A) 2013 
(C) 2014 

LD GOOT LQ LD6�T DTËl560T LTLæuLUlG LDTBlarál 560)ET 

l55. Sexual Harassment of Women at Workplace Act was enacted in the 

OWe their origin to the 

ATG) R] sfl 
sfluolGDa 

Answer not known 

) lo Qsfluwelvo 
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(B) 2017 
(D) 2016 

(B) 2017 

(D) 2016 
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156. Match: 
(a) Article 257(A) 

(b) Article 131 
(c) Article 245(1) 

(d) Article 275 

(A) 5 

(B) 2 

(C) 1 

(E) 

(a) (b) 

(D) 2 5 

(E) 

QurGSEs. 
(a) s16 257(A) 

(A) 5 

(b) sj5 131 

(B) 2 

(c) s7ã 245(1) 

(d) sr5 275 

(a) 

(C) 1 

(D) 2 

CCSE-IAP25 

3 

2 

1 

Answer not known 

(b) 
3 

1 
2 

5 

4 

(c) 

5 

(c) 

3 

4 

5 

1 

(d) 

1 

3 

(d) 

4 

3 

1 

3 

4 

3 

120 

1. 

2. 

3. 

4. 

5. 

1. 

2. 

3. 

4. 

5. 

Grants-in-aid 

Judicial proceedings 
Supreme Court 

State Jurisdiction 

42nd Amendment Act 

42s 

l 

1 



157. 

State Industries Promotion Corporation of Tamil Nadu (SIPCOT) 
was 

established by Tamil Nadu Government for the development of 
(i) 

(i) 

(A) 

(ii) Small Scale Industries 

Large Scale Industries 

Medium Scale Industries 

(B) (1i) only 

(C) () and (ii) only 

(i) and (i) only 

D) ) and (ii) only 

) 

E) Answer not known 

(ii) 

2 (5aJ TGEHÜULL5I 

(A) () oÖgÖ (1) DLGb 

(B) (ii) DLOD 

(C) (ii) obmuD (iii) oQiD 

(D) () LDIÖDLD (ii) DLQb 

(E) L Qsflueldoe lL 
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l58. "Over half of India's GDP comes from rural India and almost. two 
thirds of rural GDP comes from non-farm activities. Despite this. 

there are too many people engaged in low productivity 
and a lot more work of better, predictable nature is needed to enable 

a better life for 

contribution of rural India to the overall GDP? 

(A) 

What can be inferred from the above statement about the economic 

(B) 

(C) 

(D) 

(E) 

rural India's inhabitants, especially the young 

Rural India contributes less than half of India's GDp 

Rural India contributes more than half of India's GDP hs: 
nomy heavily depends on farm activities 

The GDP of rural India is solely driven by agricultural 
activities 

occupations 

Rural India contributes more than half of India's GDP. and a 
significant portion comes from non-farm activities 
Answer not known 

(C) 6gmDÜLp 

5Du Grplcbs atfl á rULG6irGGJT 0. lgrLDLD LDS56T, 

(D) 9bslunasla Gongs 
GojuL L 

(E) Geo QgfluuGflávese 

9DuBE (GDP)-Q ungiGD sorar 

GLogyD 



159 

Match the following 

Water ( Conservation Programmes and States 
(a) Andhra Pradesh 

States 

(b) Bihar 

(c) Gujarat 

d) Harvana 

B) 

(A) 2 

C) 

(a) 

1 

2 
D) 4 

(b) Samt 

(c) 620T` 

(b) 

(a) 
(A) 2 

1 

(B) 1 

2 

(C) 2 

4 

(d) fluneatT 

1 1 

E) Answer not known 

(a) bTæ Gssb 

(c) 

2 

4 

4 

3 

1 

1 

2 

(b) (c) 

3 

1 

(d) 

2 (D) 4 
(E) est Qsiuetle 

3 

4 

3 

3 

(d) 
3 

3 

1. Jal.Jeevan Hariyali 
2. 

3. 

4. 

1. 

2. 

3. 

Programmes 

4. 

Necru Chettu 
.Jal Hi.Jeevan Hai 

Sujalam Sufalam Jal Sanchay 
Abhiyan 

123 
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160. Assertion |A] 

Reason (R] 

(B) 

(C) 

(D) 

(E) 

(B) 

(A) A) is true [R] is false 

CCSELIAP25 

Tamilnadu 

5g680T LD R: 

13.11.1938 at Chennai under the leadership of 
T Neelambikai Ammaiyar. 

[A] is false and (R] is false 

FF.lou. 

(E) afleo Qgflwcfl dvena 

This conference passed 

Women 

[A] is true and [R] is true 

Conference 

Answer not known 

abolition of caste discrimination and the title 
"Periyar" was conferred on E.V. Ramasamy by 

this Tamil Nadu Women Conference. 

[A] is false (R] is true, but [R] is not the correct explanation 
of [A] 

held 

a resolution for 

124 

5LþBTG GuGTS�0T LDITBTG 13.11.1938-á . Beb9as 

GouogDOU 
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r 

le 

n 

60T 

161. 
Arrange the following with reference to different stages of humnan development : 

1. 

2. 

3. 

4. 

(C) 

(A) 2. 3, 1, 4 

(E) 

(B) 1, 4, 3, 2 

1. 

2. 

3. 

4 

The Nomadic stage 

D) 4. 1, 2, 3 

The pastoral stage 

(B) 

The hunting stage 

(C) 

The agricultural stage 

(D) 

3. 1, 2, 4 

Answer not known 

(A) 2, 3, 1, 4 

ut Blna 

BoJLGÜT 6l6n 

1, 4, 3, 2 

3, 1, 2, 4 

4. 1, 2, 3 
(E) Qsilualin fo 

125 

CCSEI-IAP25 

[Turn over 





















































193. Match the following : 
(a) District with highest sex ratio b) District with lowest sex ratio 

(c) 
d) District with lowest child sex ratio 

(A) 

(B) 

(C) 

E) 

(D) 2 

(a) (b) 

2 

(a) 
(A) 2 

1 

(B) 1 

District with highest child sex ratio 

2 

1 

(C) 2 
(D) 2 

9_6T6IT LOTOJLLU 

1 

2 

9_6T6IT LDITOJLLU 

sfiluraraujoD dunG HIS. 

D_6iTOT LDTOJLL� 

1 

4 

(c) 

1 

(b) 

4 

Answer not known 

(b) 6ßoT JGoT ls5D (GOpms 

4 

3 

3 

4 

1 

(c) 

1 

3 

3 

(d) 

(E) leL Qaflueláoa 

3 

4 

4 

3 

(d) 

3 

4 

3 

1. Theni 

2. 

3. 

4. 

1. 

2. 

3. 

4. 

The Nilgiris 
Cuddalore 

The Nilgiris 

CCSELLAP25 



194. ldentify the correct statement 

(a) 

(b) 

(c) 

(d) 

(A) 

(a) 

(B) (b). (c) and (d) are correct 

(b) 

The rate at which the RBÊ is willing to borrow from the 

commercial banks is called reverse repo rate 

(C) (a). (c) ad (d) are correct 

(c) 

If the RBI increases repo rate, it makes borrowing expensive 

for banks vice versa 

(D) (a), (b) and (d) are correct 

(d) 

(E) Answer not known 

Repo rate is a tool to control inflation 

(B) 

A lower reverse repo rate decrease inflation 

(a). (b) and (c) are correct 

(E) 

(A) (a), (b) oopb (c) sil 

aJRfls 6uråiflsaflsl(5b5 QuT`(5D 5L055rG8T RBI Gsr6s5 al(Db 

(b), (c) obg1b (d) sfl 

(C) (a). (c) oogb (d) sil 

(D) (a), (b) iopgLb (d) sfl 

CCSELIAP25 152 
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195. Arrange the following events in chronological order. 

(3) 

(4) 

(2) Thirunelveli riot 

(A) 

() 

(B) 

(C) 

(D) 

(1) 

(2) 

(3) 

(4) 

(A) 

(B) 

(C) 

Kamarajar in Vaikam Agitation 

(E) Answer not known 

Madras Mahajana Sabhn 

Swadesi Sangam 

(2). (3). (1), (4) 

(3). (4). (2). (1) 

(4), (2). (1), (3) 

(1), (3), (4), (2) 

(2), (3), (1), (4) 

(3), (4), (2), (1) 

(4), (2), (1), (3) 

(D) (1), (3), (4). (2) 

(E) cflL Qglufl doeoe) 

153 CCSELLAP2: 
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196. Three circles of radius 3.5 cm are placed in such a way that each 

circle touches the other two. The area of the portion enclosed by the 

circles is 

(A) 
(C) 
(E) 

(A) 

3 

(C) 
(E) 

(A) 
(C) 
(E) 

(A) 

197. If the difference between S.I and C.I for 3 years at 5% 1s Rs. 183. 

then find the principal 

(E) 

1.967 cm 

(E) 

19.67 cm 
Answer not known 

1.967 Qs. L8? 
19.67 Qs. 82 

18,000 
24,000 

(C) 24,000 

Answer not known 

18,000 

CSELIAP25 

(A) Rs. 1,716 
(C) Rs. 3,744 
(E) Answer not known 

(A) . 1,716 
(C) A5. 3,744 

198. Ramesh deposited Rs. 15,600 in a fixed deposit at 10% per annum 
simple interest. After every second year he adds his interest earning 
to the principal. The interest added at the end of 4th year is 

(B) 1.975 cm 
(D) 21.21 cm 

aloL QgfilwalaQ 

(B) 1.975 Qs.L82 
(D) 21.21 Qe.L82 

(B) 8,000 
(D) 30,000 

183-S5, 

154 

arGpa 5 l5,600 aJÜy! G5nDHIT 10% 5afl auL iq al558 

5% , aioT () 

(B) 8,000 
(D) 30,000 

(B) Rs. 1,560 
(D) Rs. 1,872 

GT6ofl bT68T5 TLD 

(B) 5. 1,560 
(D) 5. 1,872 

1 



o9. Based on the verse of Thiruvalluvar. "Four ills eschew and virtue reach" arrange the following human qualities that will make you reach virtue : 

2. 

4. 

(C) 
(E) 

1. 

1 

2. 

4 

3. 

3. 

(A) 2. 3, 1, 4 

(A) 
(C) 
(E) 

(E) 

(A) 
(B) 

Anger 

(C) 

Desire 

(D) 
(E) 

Malice 
Bitter Speech 

200. Reason and Assertion : 

4. 3, 2, 1 
Answer not known 

2. 3. 1, 4 

Assertion [A] : A person who thinks that he will not be despised by 

4, 3, 2, 1 

6J 600T LD RÊ 

lsflualinAN 

Reason [R] : He will refrain the thought of attaining any object 
with a forgery from entering his heart. 

(A) A] is true R] is true 
(B) (A] is true R] is false 
(C) [A] is false [R] is true 
(D) (A] is false [R] is false 

Answer not known 

others. 

(B) 1, 2, 4, 3 
(D) 3, 2, 1, 4 

(B) 1, 2, 4, 3 
(D) 3, 2, 1, 4 
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